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Questions

1.

Out of four points which is not an economic activity ?

(1) Production (2) Social service

(3) Professional (4) Trading in goods

Mo A fomgelt & @ fim-w onfie Ty w8 3 7

(1) Jm @) aE

(3) Tem (4) el # a-29
2. | Which option is not a business activity ?

(1) Production of goods (2) Transportation

(3) Exchange of goods (4) Work in a factory for wages

S0 fawed aamis Ty 8 3 7

(1) aEgeHt &1 S (2) e

(3) a&IsH & fafwwg (4) 795 & fow G & B B
3. | Oilrefinery and sugar mill are classified under which industries ?

(1) Primary (2) Secondary

(3) Tertiary (4) None of the above

da g SR S B R SERT & o ot B om B 7

(1) s (2) fadras

| @) TR (4) g ¥ @ 9 AE
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(1) Income and cost for the managers
(2) Financial conditions of the institutions
(3) Company's tax liability for a particular year

(4) All the above

(1) veg& & foe oG qur arrd
2) Waﬁiﬁﬁ?ﬁqﬁqﬁf
(3) s ay fagy & fau & & e TR

(4) Iug a+fl

Code-A
No. | it - _, \*\
4. | Identify the activity which does not support trade : |
(1) Banking (2) Warehousing
(3) Insurance (4) Mining |
3§ TRy @ gedH #RC @ AN H@ aerd A6 8 1‘
(1 e (2) FaTETfHT |
(3) s (4) G i
5. | In which occupation people get salary or wages in return for their work ? l
(1) Employment (2) Business |
3) Professionl (4) None of the above
Rt 301 7 aiftp oY A & 9 HoEd @ A T F@ ¥ 7
1) JR (2) @
(3) Tsm (4) JIGH § q B A
6. | Accounting furnishes data on:

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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Questions
Copyrights, Patents and Trademarks are :
(1) Current assets (2) I'ixed assets
(3) Intangible assets (4) Investments

Set-Y
Code-A

(1) drq el (2) @l wfe

| (3) ST EwfwEl (4) fras

B 8. | The debts which are to be repaid within a short period (a year or less) are‘:
referred to as :
(1) Current liabilities (2) Fixed liabilities
(3) Contingent liabilities (4) Allthe above
T 7 PR o (T ad @ 360 ) 3 R g AN 3, 9 Fe E |
(1) a1 TRE (2) w@E A |
(3) HEE A (4) Iugwh aq |

9. | Gross profit is :

i
i

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A

(1) Cost of goods sold + Opening stock

(2) Excess of sales over cost of goods sold

(3) Sales fewer than Purchases

(4) Net profit fewer than expenses of the period
TEA @ B

(1) a9 7 o1 & ad + IR wi

(2) a9 M " #1 A O famd @ anfuer

(3) #4 4 &4 fawg

(4) a94 fagdy &A@ § # Ya M
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10. | The charges of placing commodities into a galeable con

charge to :

(1) Trading account @) Profit and Loss alc

(3) Balance sheet (4) None of the above
a@eﬁ@fmmmﬁ@%mw@mmwm:
(1) MR @ A (2) - @ d

(3) ot ferger A (4) I T T BE T

11.

Discounts received are :

(1) Deducted by us when we pay our accounts

(2) Deducted when we receive cash

(3) Given by us when we sell goods on credit

(4) None of these

o gl A

(1) &9 9 & o &7 A0 B P 7 8

(2) W § S BW Toha W@ HAQ 2

(3) TR @ R M & 99 B AR B oo w oy §
@) T A PR

PG-EE-June-2023[M.Com(Hons)Five Year [nteorasroas o———
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12. | Sales invoices are first entered in :

(1) The Cash Book

(2) The PurchasesJournal

(3) The Sales Journal

(4) -The Sales Account

Rl =T @ ve et AT o B
(DWWI? (2 9 T
@) Fa o A (4) Fora @ 3

13. | If we take goods for own use we should :

(1) Debit Drawings Account, Credit Purchases Account

(2) Debit Drawings Account, Credit Stock Account

(3) Debit Sales Account, Credit Stock Account

(4) Debit Purchases Account, Credit Drawings Account

It &9 awel @ oM w@d d W fw ad ¥ @ & F e
(1) s @ ¥ e, w1 wd § #ee

(2) omEw @ ¥ e, Wid @ § hise

3) fomrg @ # e, % @ | BT

(4) ®a @ # e, omewer @ F wee

PG-EE-June-2023 [M.Com(Hons)Five Year Integrated] Code-A
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14, | If a trial balance totals do not agree, £h¢ gifference must be entered in
(1) The Profit and Loss Account
(2) A Nominal Account
(3) The Capital Account
(4) A Suspense Account ‘
HﬁﬁW%ﬁﬂﬂﬁﬁﬁ?ﬁﬁﬂﬁaﬁ?ﬁWﬂﬁ%ﬂ:
(1) -8 @ | (2)qmmsrz%aﬁff
(3) gl @ A (4) JE< @ H

15. | Which of the following is a false statement ?

(1) The scope of commerce is narrower than business.

(2) Commerce includes trade and auxiliaries to trade.

(3) Foreign trade is purchase and sale by the traders of the same country.
(4) Traders serve as a link between producers and consumers.
frfoad & § S9-91 $99 Tod 8 7

(1) @l & 8 @ 3 A & a3

(2) TR H AR T AR T A A 3

(3) ﬁ%sﬁmﬂ@éléﬂ%amﬁqﬁmmqmmamm%

(4) W,WﬁwW%qummm% E\

|
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: 16. | Which of the followmg 1 not a management function ” 1‘{
E | (1) Planning (2) Staffing \
1 | (3) Cooperating (1) Controlling
| Prafftzg 3 & ®9 m uags g g al R
(1) A & (2) frgferat
(3) TEQT FHA (4) Frg=mr &=
17. | Pohicy formulation comes under which role ?

(1) Top-level managers (2) Middle-level managers

(3) Operational management (4) All of the above

S fam @ o o B 7

(1) T3-WR J-4&y (2) M-I G-
| (3) uftaEHETE Fa (4) IWH Al |
? | s
| 18. | Management is defined as : |

(1) AnArt (2) A science

(3) Both art and science (4) None of the above
ga=] g1 afegmr g e i & ot @

(1) 4l (2) lasm

(3) & d fs @ (4) Ul | #g Ael

PG-EE-Jun c-2023[M.(Iom(Hm{S)F ive Year Iliféé;ilted] Code-A

(7)



Set-y
Code-p

uestio -
No. )y Questions

alar chain |
Y thf‘ “( rlIr” ( « . |
19. | Which of the below-mentioned item does not follo |

(2) memnnlHtrurtm'n

(1) Functional structure

- . ~gantzation
(3) Formal orgamzation (1) Informal organiza

MR M @ A D@ A e B AET B A

(1) wafeE graa (2) @virfra &vem
(3)  Srumrfiz w@med (4) i de

. —_—
)

20. | Which of the element is not a part of the communication process

(1) Decoding (2) Communication
| (3) Channel (1) Receiver

| P e W SR @ e T R 7

(1) fezifen (2) |HT

(@) (4) T

21. | Inthe case of admission of a partner, the entry for unrecorded investments
will be :
(1) Debit Partner Capital A/cs and Credit Investment A/c

T — -

(2) Debit Revaluation A/cs and Credit Investment A/c
(3) Debit Investment A/es and Credit Revaluation A/c
(4) None of the above

AR & A & @, slviafad Past @ gRfe anf

| (1) &R & 3o @t & 2fae qu MRl g § e

| (2) e G A R qu Ry wR) § afe

(3) fAaar @l 4 Slae 9 Y g § e

|
!
|
f (4) TTGF 4 4 31 @l

EE-June-2023[M.Com(Hons)Five Year
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29, | Sacrificing ratio 1s used to distribute in case of admission of 4|
partner. ‘
(1) Reserves
(2) Goodwill
(3) Revaluation Profit
(4) Balance in Profit and Loss Account
S ST T AHER b 49 A WA faaftd & % fau a7 2
(1) |93 . (2) =
(3) FTFEE @ (4) @Al @ # A
| 23. | Trial balance is used to check the accuracy of :

_

(1) Balance sheet balances
(2) Ledger accounts balances
(3) Cash flow statement balances

(4) Income statement balances

TATE F oo 1 gl &l Sfia & e g e oo 2
(1) AfdF faed @1 a9 (2) @&l @ 9

(3) AT A fqavor a9 (4) a4 faaeor A9

PG-EE-J une-2023[M._60m(H0ns)Five Year Integrated] Code-A
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Questions -
. » trial balance mej , *
When debit balance 1s equal to credit balance then the ns |

(1) Account balances are correct

(2)  Mathematically Capital + Liabilities = Assets \

(3)  No mistake in recording transactions ‘1
l

(4)  No mistake in posting entries to ledger accounts ‘

5§ @ 9, o 99 B axE A B oA qaue & o § ;

(1) @@ 9y gdl &

(2) TG w9 A gl + ARG = iR

(3) @934 # g FA F B A TGl 2

(4) & @l ¥ ufaftedt oot e § % T T8 8

—

To start a partnership business, what should be the minimum number of

partners ?

(1) 2 (2) 10

(3) 4 (4) 20

% AR AT Y6 B & AR # e wen qn @9y gt ?

(1) 2 (2) 10

(3) 4 (4) 20

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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26. | What type of agreement is used to form a partnership business ?
(1) Written agreement

(2) bral agreement

(3) Written or oral agreement

(4) None of them

U TR FEE & a7 H 59 TR F S e ugeE 2 2 7

(1) fafea s (2) i e

(3) fafaq sremr Aifaw omgaa (4) T § FE T

27. | On No partnership agreement, what will be the percentage of profit sharing

ratio between them ?

(1) Unequal

(2) Equal

(3) It will depend on the experience of a partner

(4) It will depend on a partner's capital

frdl AT e & BN W, I 4 e e ergae @ e 7
1) FE

(2) @A

(3) WRER & IFFd W [T BT

(4) \ERER F G Q@ MR E

L

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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28. | What is a Sole Proprietorship ?

(1) Business owned by President

. al e 1es
(2) Business owned by sevel al compan

(4) Business owned by a company
U @it 4T BT & 7

| (1) o728y & WiiHE g J9ard

| (2) F{ FAWE & E@IHT e Fqdqrd
| (3) UF Afh & W@IFd ar AJdd

(4) U FHE & Wit e qaad

|

fJ (3) Business owned by one person
z

|

|

J

29. | Sole Proprietorship is most suitable for :
(1) Medium scale concerns

(2) Large scale concerns

(3) Small scale concerns

(4) None of the above

el I A4l g &

(1) "9 P9 & qarf & fm

(2) a2 TR & agurt 3 fu

(3) @9 T & @t 3 fo

(4) I0gH T 4 B A

!PG—EE’ June-2023[M.Com(Hons)F iM
(12) o Integrated] COde'A
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30. | Which of the following is not a function of insurance
(1) Risk sharing (2) Assist in capital formation
(3) Lending of funds (1) None of the above
frafafad & @ @F-a1 4/ & F1d 7 2 7
(1) SfEw @ & (2) Yoit o # @@mEar v
(3) o9 IYR AT (4) I9GH F q F2 T

31. | Which of the following is not applicable in Life Insurance contract ?
(1) Conditional contract (2) Unilateral contract
(3) Indemnity contract (4) None of the above
frfafad & & @F-a1 Sfiaw dmr orfery ] T8l e !
(1) qud g (2) TehaTH! T
(3) afagfel ey 4) 9w ¥ q ¢

32. | e-commerce does not include :

(1)
(2)
(3)
(4)

A business’s interactions with its suppliers
A business’s interactions with its customers

Interactions among the various departments within the business

Interactions among the geographically dispersed units of the business

¢ # afefad TE R
(1) @R &1 ea anyfdediet @ ardid

2)

M F1 394 TEd @ ardeid

(3) aaar & ¥ fafi fawm & meq arddid
(4) Ear & At w9 4 el gwEdl & A

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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33. Social résponsibility ig -

(1) Same a4 legal responsibility

(2) Broader than legal responsibility

(3)  Narrower than legal responsibility

(4)  None of them
(1) fafos swrafam 4 i
(2) fiw wafem & aps
(3) meﬁﬂﬁaa
(4) & & 71

-
34.

Which of the following 15 capable of doing max

imum good society
(1) Business success

(2) Lawsand regulations

(3) Ethics

(4) Professionalmanagement

T R R 33 T 2 oy T s gy H w3
(1) ZAATEE A

el (4) Ty T

lune-2023[M.Com(Hons)Five Year|

nte Yo
(14) grat
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35. |

i
|

Which item does not caunse any business risk ?

(1) Breakdown of machinery

(2) Efficient management

() FENT R e

) Riot
(4} Changing government policy
e # & @99 el gaafes Afaw a1 a3 98 A o

(2) FAA 5F

@) =2 (1) |G Ay F qfrgs

36.

In business, why is it essential to make a profit ?

' (1) It provides a return to investors

(2) It provides funds for future extension
(3) It increases the reputation of a company
(4) All the above

FFAE 4, @ AT & oaEE w® R

(1) 2z fRaE A ofqwd W_E & 2

(2) F= widl fawr &g a9 WR&H & 2

(3) @& g1 91 gfaer 4 gfe s 2

(4) 9 &+l

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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}k)u('s!ind

];_-5.‘,";__{“ o o

| o . ) . o avn 0 Hod gibility alon.
| To have an effective delegation is important to have a responsibility along

37.
f
[ with ...
‘( (1) Authority (2) Manpower
; (3) Incentives (4) Promotion
fmm%mawmagwwmm ........ A 2
’fl (1) 3fer (2) HHaEIfH

| } (3) e (4) T
38. j' Accounting provides data or information on :

/ (I) Income and cost for the'managers
| (2) Financial conditions of the institutions
(3) Company’s tax liability for a particular year
| (4) All the above
| TGl GOl S4aT SAET Iq O ¥
(1) g4 & fou sma qar are @
(2) denst 41 fadn fafy @
(3) fodl a fadw & fou #v:f a1 gx-afyg

(4) 3y a4l

e

||

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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|
| 39. | The assets that can be easily converted into cash within a short period, |

i.e.. 1 vearor less are known as

(1) Current assets (2) Fixed assets

(3) Intangible assets (4) Investments

el R araaty & omart A Fd F ggan A gEa & e 1At ar e o A
R I F/ AT 8

(1) o &R (2) @Rl wf

(3) o Ffl (4) frag

40. | Which of the following best describes the Principles of Management ?

(1) They help managers to take decisions while performing rnanagerial?

functions
(2) They denote a cause and effect relationship
| (3) They give guidelines for further action in management functions
! (4) All of the above I
| e i A d-a Ta @ Tl #1 wdron e B &
(1) 3 gl @1 vaed A Fa e fofg Y # deEd & @
()4 AT S O e ) e R
(3) 4 v gt # o rdardl @ fe Ranfader W& & 2
\ (4) o a4l

1

L

PG—EE—June-2023[M.Com(Hons)Five Year Integrated] Code-A
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41. | The main reason why Principles of Management do not pr ovide readyi s

..............

solutions for al] management problems is that
(1) They act as general guidelines for business-related 188ues

(2) The real business issues are pretty complex

(3) The real business issues are very dynamic

(4) All of the above

e 3 Rt wt gy el @1 Wie e ST T A, 0 Y A )
e f¥ 5
(1) 3 FEm gt qgdt & R amrea Ren-Pig & ad &7 2

(2) I FTERE 552 e R A

(3) TR TR IR a5t T A3 ¥

4) I it |

42. | Which of the following describes the principle of harmony, not discord ?

(1) The management should properly investigate any task

(2) The management should engage in scientific enquiry

(3) The management should focus on observation and analysis

(4) The management should share the gains or profits of a company with
their workers

Frefoifea & #F-a1 wga &1 s 8, 9 5 g a1 7

(1) woq 3 et &t a1 A % F g Foh TR

(2) &9 % AMF S FTA AR

(3) FY F JERiHT qul R W @W 3 F e

(4) A G FH H A ST FHARG } W T e

PG-EE-June-2023 [M Com(Hons)F i\('fsl)fear Integrated] Code-A
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43. | Which of the following 1s the main motive behind carrying out a fatigue
study ?
(1) It helps to calculate the standard output for employees within a task
(2) It helpstocalculate the expected time taken for employees to complete
their tasks
' (3) It helps to calculate the duration of rest intervals given to employees
| (4) None of the above
| PreET § 3 ANw e gm0 3 O @ e e ¥ 7
| (1) & Fuffis & # +faRd @ a9 SO P T & F e R 8
() IF FHIANE W I W A QW FA A (R W FRT T RO Fe
FEE 4 2
(3) & FHANRE B RY R Rym Fa A W A A qEdr Hie 2|
4) 39w F | FE T
44. | Which of the following is the main objective of standardization within a
business ?
(1) It helps to establish standards of excellence within a company
(2) It helps to reduce products to fixed sizes, features or types

| P § § S9- A9 § AR 1 g IR @ 7

i

|

| (4) IS @

(3) It helps to bring in more significant exchangeability of various parts

(4) All of the above

(1) & & § Iped d qH H FuRer X @
©) T SRt & Fived ST, ffedrel vt Wl § g dxA A Herddr e 8 |
(3) =z R TR # e Teapt R § end & @

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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45.

r

(1) Decision making |
are
(3) Both (1) and (2) are correct (4) Both (1) and (2)

geu 3 e 2 P anen R
(1) Protas
@) (1) (2) A @ 2

46. | By profession, F.W. Taylor was a
(1) Mechanical Engineer (2) Mining Engineer
(3) DPsychologist (4) Human Resource Officer
W }, 0F.TY, W U
(1) B gl (2) W AT
(3) HAQEAE (4) WG "EEA AR
47. | The principles of management have been developed on the basis of :

(1) Observation
(2) Experimentation

(3) Personal experiences of the manager

(4) All of the above
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48.

—

The apphication of this principle of management leads to higher production!

and better work for the same effort. Identify the related principle of general

management :
(1) Discipline (2) Equity
(3) Division of work (4) Order

yo & g9 RIS @ qae v § affee e an afte am w5 Ao
d B A WA B 30 Ry @1 ggEe #if

R RRIGE (2) &l

3) Fd s (4) IRY

49.

——

According to Henri Fayol, if this principle of general management is viclated,

“authority is undermined, discipline is in jeopardy, order disturbed and

stability threatened.” Identify the principle.
(1) Authority and responsibility

(2) Discipline

(3) Unity of Command |
(4) Equity

B G 9 AR, AR A G b 36 RS e Re T § @)

% FH S A B, AGATE Gt Y, s Teae O ¥ ol ReRr & @a I
BB gn faw @ gea i

(1) wHfoar ud Feeiye (2) e
(3) A F v (4) q9ar g

PG-EE-June

-2023[M.Com(Hons)Five Year Integrated] Code-A
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50.

The technique of differential piece rate system was developed by Taylorin
order to :

(1) Discriminate between efficient and inefficient workers

(2) Reward the efficient worker

(3) Motivate the inefficient workers to perform better

(4) All of the above |
ﬁﬁﬁmgﬂﬁmmaﬁwﬁmm%(%ﬁmwmf |
(1) T T FFAT WH & 77 A9 FW H fC

@) @mmﬁmaﬁ%m

(3) g AR H fE arewT FA F e ARG W B

(4) I T

————

51.

Long term assets having no physical existence but, possessing a value are

called :
(1) Intangible assets (2) Fixed assets

(3) Current assets (4) Investments

B

(1) smd wmfoa (2) @Rl gfp
(3) I Hwfer (4) Qg

PG-EE-June-2023[M.Com(Hons)Five YeW o
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52. | Partners’ Current Account has ............
(1) Credit Balance
(2) Debit Balance or Credit Balance
(3)  Neither Debit Balance nor Credit Balance %
(4) Debit Balance |
AR & a1 @ & B
(1) #fee 99 ;
@) 3 I s A A |
(3) 7 2fe 9w T & e 9y
(4) efe 9w
53. | In the absence of a partnership deed, partners are entitled to receive
(1) Interest on loan (2) Salary
(3) Commission (4) Interest on capital
A faere & 99E o, e W F & RN B
| (1) TIX 9 & (2) dcH
(3) FHIeH (4) it R A
L




uestion .
No. Questlotf///\j

54. | Ostensible partners are those who

ofit.
(1) Contribute very little capital but get equal pr

‘
n t} 1‘
ital and 1thout ha 1ng y rest i thel
D1TE w \% an interest
l

(2) Do not contribute any caj
business, lend their name to the business.

(3) Contribute maximum capital of the business. o
but get some share of profit for lendip,

(4) Do not contribute any capital
their name to the business.

ReEmed @R @ 8 & o -

(1) g7 el Goft o & ey SR T OTE F @ |

) HE s Goft T T T oY gE § B Reeedl WA AT TH H9EE 2
3 &

(@) B G T T R AT T FaEE B 3 B g AW § O R o g

i

———

55. | When is the Partnership Act enforced ?
(1) Where there is a partnership deed, but there are differences of opininn

between the partners.
(2) When capital contribution by the partners varies.

(3) When the partner’s salary and interest on capital are not incorporated
in the partnership deed.

(4) When there is no partnership deed.

AR sy &9 an dw g 7

(1) ma@mﬁﬁ@a@m%mwﬁaﬁf%éﬁaqﬁﬁwa

(2) 9 HET &/ Gl # AN B g |

3) O HRRR # 34T qU Gl W : P

( Tl W & W@ g 3 il = frar @ @

(4) 9 FE wEEN fog T 8

PG—EE—June-2023[M.Com(Hons)FivW/
e-
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56.

¥4 p : - : : e
When a Goodwill Account js raised, the credit is given to the old partner’s

capital account in ...
(1) Old profit sharing ratio.
(2) Gaining ratio.

(3) New profit sharing ratio.

(4) None of the options are correct,

(1) T & fqaeer sme 8 (2) Wi eeE &
(3) a4 &N T A § (4) #E F oy 921 721 B

37.

What do you mean by super profit ?

(1) Total profit by the number of years.
(2) Average profit plus normal profit.
(3) Average profit minus normal profit.
(4) None of the options are correct.
gl 4 AT FJ A 2 7

(1) 77 @d & adi 41 Je&n § 90 &

(2) A @9 H AEEE e e

(3) A @rd H d GEg drd He

(4) FE A fEe w@ T 2

T’G~EE—June-2023 [M.Com(Hons)Five Year Integrated] Code-A
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58, | The decigion in Garner rersus Murray was given in.
[ (1) 1905 (2) 1933
(3) 1804 (4) 1904
M g ot @ g ° fota Rar oman oo
L (1) 1905 % (2) 1933 %
(3) 1804% (4) 1904 %

59. | Following are essential elements of a partnership firm except

f (1) At least two persons
' (2) There is an agreement between all partners

|
|
|

! (3) Equal share of profits and losses

(4) Partnership agreement is for some business
Al & gyE dd fefafed § @ g R ¥

(1) 9 4 34 2 Fih

(2) ﬂﬁm%qwmwﬂ%
(3) @-gfagt & wur sriier
| (4) A S [ aaa | g @ foro &

| PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
(26)
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No. Questions

60. | Which of the

following atatement is true ?

(D A minor cannot be admitted as a partner

(2)

A minor can be admitted as a partner, only into the benefits of the|
partnership |

! Q : o : . ’ .
; (3) A minor can be admitted as a partner but his rights and liabilities are

same of adult partner
(4)  None of the above
Frafofa & & A s o @ 7
(1) U% FF AR & &9 § w@iepr 78 far 1w 2|
| (2) T F GRER & 0 A d90 qPE & Al § D o a2
| 3) Wﬁﬂ@m%wﬁﬁﬁ%ﬁﬁmmm%qwdw3@*1?@*?”73?
| IIEF TR o & ¥
4) IYw F q g T

61. | Securities premium can not be applied

(1) For paying dividends to members
(2) For issuing bonus shares to members
(3) For writing off preliminary expenses of the company

(4) For writing off discount on issue of debentures

sferyfeal &1 shfmm ... & fu w2 B S g |
(1) qedl & avia gaM & fau

(2) T # a9 el &1 i 1 @ e

(3) @l & URfiE Fdl @t srffd s & forg

(4) ForE & i w1 e @ afafed w0 @ R

.
PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
(27)
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No. Ques - — ‘
. , 1
62. | What does reserve capital mean ? \
(1) A part of subscribed uncalled capital }

| (2) Reserve profit

E (3) A part of capital reserve

| (4) A part of capital redemption reserve
A goft 1w/ a4 2 7

(1) wfda safad goit &1 0% A

(2) g @4

(3) G @9 & UF AW |
(4) U s dEE @ % 9T |

e p————

63. | An issue of shares that is not a public issue but offered to a selected group

] of persons is called .............
|

(1) Public offer

(2) Private placement of shares

——
S—

(3) Initial public offer

(4) None of the above
gt &1 frt 5T ardwfe e 7@ ® oty afwdl & foe oF wafa e @ gk

fpar 41 B, Fedrd &
(1) @ Fm (2) g @1 foll QR

| (3) ZfmE e S (4) I A} A 7

-2023[M.Com(H i
June-2023[M.Com( ons)Fu(rSS'i)(ear Integrated] Code-A
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Questions

64.

When shares are forfeited. the share capital account 1s debited with

(1) Nominal value of shares

(2) Market value of shares

(3) Called-up value of shares

(4) Paid-up value of shares

T T R TR ¥ D sy G @ A e B A 2
(1) o 3 3 70 3

(2) M % IR T & A

3) el % Tfed g9 3 |y

4) ¥ $ W W B Ay

65.

Balance of forfeited shares account after the reissue of forfeited shares 1s

transferred to .............
{
(1) Profit and Loss A/c |
j
(2) Capital reserve account ;

(3) General reserve account

(4) None of the above

e fF T st A AR S @A) e o @R @ Ay L ¥ g
forn e B

(1) amw-af @ (2) ol qag @

(3) HM Heg @l (4) IYH & q 2 T

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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'

o}

9
‘ .« sheet
y which aide of the halanc

66. | Premium on the issue of ehares is shown or

(1) Assets (2) Liabilities

| (3) Both assets and liabilities (4) None of the above

7
asﬁ@ﬁmmmﬁmﬁmﬁe%mmmm-m%
(1) iy (2) e

@) shw qu afde A (4) o A A A

om liabilities it will be equal to:

- —

67. | When assets are subtracted fr

(1) Capital (2) Net income

‘ (3) Working capital (4) Goodwill
ﬁaﬁﬁﬁmﬁﬁmm%aﬁwmm:
(1) @D 2 IS @ 3
(3) e G F 4) @ &

I

68. | Profit & Loss statement is also known as :

(1) Statement of earnings

f (2) Statement of balance sheet

(3) Statement of operations

(4) Statement of income

ar-aif e &1 g o % R

(1) i s @ R (2) o Foed o R
(3) ftar ke (4) 3 & R

e e ———————

J -2023[M.Com(Hons)Fi
PG-EE-June-2023] ns) “(’go‘)[eal'lntegrated] Code-A
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69.

Set-Y
Code-A

Questions ‘

Which of the ﬁsllnwmu optiona i not recorded in the Balance sheot \
(” ("I\Hl\ (2) Reont axXponses )v
3 Building

Mol & Q o a anfel

(1) Goodwill

 fad ot il e v

(1) T (2) T ap
@) e (1) warfe
70. | The main Operation expenses of a business are termed as -
(1) Operatingoxpensea (2) Non-administration expense
3) Selling expenses (4) Administration expense
T F T GREAEH 2 B ey o Y
(1) uRewm g (2) R-nemfea am
@) feh g (4) varEt
71.

Which statement shows the flow of cash and cash equivalents during the }
financial period ?

|
(1) Statement of changes in equity
(2) Cash flow statement
(3) Balance sheet

(4) Income statement
m-mmmmw%mmmwmmm%?
(1) aver & oiad N & e (2) T var o

(3) onfdw fegen (4) 3y fagr

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A

(31)



Set-Y
Code-A

Elvs(inn I
No. Questions

72. | Investment can be defined as

(1) Person's dedication to purchasing a house or flat
‘ (2)  Use of capital on assets to receive returns

(3) Usage of money on a production process of products and services
(4) Net additions made to the nation’s capital stocks

PR & g8 wer oftwfea fan o agar 2

(1) = A 99 a1 Fle @i & gfa qdor

(2) wfww o @R & fa it gv oA @ g

(3) I qun Qg @ IR GiEg 9 A & T

4) T F Gl ®F F g& aRE K

73. | The concept of Financial Management is :

(1) Profit maximization

(2) All features of obtaining and using financial resources for company

! operations

(3) Organization of funds

(4) Effective Management of every company

faeira wg= &1 Jquron 8§

(1) @ A

(o e v ) a o e s e e

(3) FMl 41 A

(4) wedw FEE gl gee

— 5093 [M.Com(Hons)Fi
PG-EE- June 2023[M ons) n(rggear Integrated] Code-A
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74.

Questions

What 15 the primary goal of financial management ?

(D To minimise the risk

To maximise {he owner's wealth

(3)  To maximise the return

() To raise profit

9T 9e @1 uRfivgs aeg g ¥ 7

(1) SR 7w e (2) @l F1 Fet FTFA H
() TUE & A F (4) @M G

~1
(1]

GST 1s a consumption of goods and service tax based on -

(1) Development (2) Dividend

(3) Duration (4) Destination

ST aegell qor danell & Iwi W A R A T A 2
(1) faam (2) qeiar

(3) oy (4) T

76.

—

From the below-mentioned items which are financial assets ?

(1) Machines (2) Bonds

(3) Stocks (4) Both (2) and (3)
Fereifae wef o @ @4 fadh i ¥ 2

(1) #eiH (2) @vgy

(3) ®iE (4) (2) dur (3) QY

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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71.

Which of the following is truce ? . .
ket whereas a
. asmar mar
(1) The initial public issues are made 10 prim y
. markets
subsequent issues are made 1n the secondary
are not

arkets
(2) Primary markets are legal whereas gecondary M

reas secondary markets aré meant

(3) Primary markets deal in shares whe
for debentures.

: i ugh the
(4) Corporates raise resources directly from the investors throug

in the secondary markets, investors buy

primary market, whereas

and sell securities from one another.

Prefeiad # @ Hi-a1 G €

(1) mmﬁ%ﬁﬁaﬁm@zﬁwﬁmwm%fﬁqmmﬁ
¥ o &

@) Ut AR 3y ¥ Rk fadad a1

3) i aar § sigt 1 A9 @ @ Ta fadies aem st @ e g 2

4) Y Gl @ PR @ G @R B E @i e @ a2
& ¥, o fedias amdt A FRsE T @ s wiey o aed ¥

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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Set-Y
Code-A

. '\-‘\~, .
Eiue stion

- Questions s
- | Which of the following 1a TRUT '

| Lata ?
IS about Primary Markets ”

|

r ary ’ 1 [S¥aTad 1t 16
Primary market is the place where public can buy and sell sccurities |

(D
from one anothory, \

i
O y P, . o ‘ . ’ - ’ b ‘.
(2) Primary markets refer to the mobilization of funds from the public |
by corporates through the issue of shares / debentures.
3) Pl‘lmm‘y markets are places where only short-term instruments ar

traded.
(4) Primary markets are markets where commodities arc sold.
Fr=fafad § & @9-a1 mafss aom & g § a9 8 7 |
(1) Wﬁzﬁwasrm%aam@{@aamﬁm@mﬁaﬂm%
2) mﬁmwmﬁ/m%ﬁﬁtﬁ%mmﬁ%ﬁ?ﬁmaﬂmméﬂm

F S e B 2|
(3) mamam%waﬁ%aﬁmmwmwmmm%u

(4) e aER 3 9V § ol e ad o 2

\

79.

The holders of which instrument are members of the company and have

voting rights ?

(1) Commercial paper (2) Treasury bill

(3) Debenture (4) Equity

ﬁaﬁﬁ?ﬁumﬂﬁ%mm%waﬁ%wqﬂﬁmmﬂwwﬁ%?

(1) @i e (2) sl o

(4) gHcT
(3) FIH

| ——-—‘”‘2‘//‘7(Hons)Five Year Integrated] Code-A
PG-EE-June-
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o. - h
N - Questions
s0. | e
....... 18 the process by which physical certificates of an investor ape
converted to an equivalent number of securities in electronic form.
(1) Materialisation (2) Rematerialisation
(3)  Conversion (4) Dematerializations
s IE U ¥ Rrad arr Frww @ oifae gl B @ JE@ 3 gfaiig
A QFE T @ Az o 2
(1) FRgaseE (2) ARTEEAAT
(3) FHastH (4) INARTAEATT
81. | Who suggested product, pricing, place, promotion all these in a company
represents “Market Mix” ?
(1) Neil Borden (2) Neilsen
(3) Philip Kotler “4) Stepheh Morse
gg gea fraa Rar @& M, yfiT, @9, g ¥ aft & F Hehe JRT @
gfafafee & & 7
(1) e g (2) e
(3) B Feert 4) e A
82. | This P is not a part of the 7Ps of marketing mix ?
(1) Promotion (2) Price
3) People (4) Purpose
qu[aqaﬁrfttam%wammaﬁ%:
2
(1) g (2) wigd
(4) 9O
@ M e Five Year Int )
M,Com(HonS)Fl‘(’gG) ear Integrated] Code-A

PG-EE-June-2023l




Questmn

No.
o

83.

Set-Y

Code-A

(4)  Non-profit Marketing

{91 T I
ﬂﬂlaqt'ﬁmﬁmmgmm%‘\ -

3399 = T3

-
—_—

1 % . 9 931 841, 98 E&A] |
: LS ' (2) Tg3 fawom

1 (3) feftea fagum @

' 84. | USP is defined as :

.
Dy
L(-

D

‘JEPJune-2023[,\‘I.C

(1) Unique selling price

(2) Unique sales preposition
(3) Unique selling proposition
(4) Unique strategy promotion
1@@%@%%:
(1) o AR
3y o At A

2) TF d dishe
(4) T Fesl M

m(Hons)F ive Year Integrated] Code-A
FE 0
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tracting & 1

f}uestinn

No. _
o . ¢ at

: Jice fo
. initial pr1ce
85. | The process of setting a low init

buyers quickly to cover a larg

{ (1) Going-rate pricing

(2) Market penetration pricing
(3) Value based pricing

| (4) Skimming pricing

Fa1al & g g @ sl AHd
R e & 9 qeg @ @ R A Fed ©

(2) IER FAT A

=0 3 fo e ) T R A 9

(1) vl & @ g MR
(3) 7™ omRa & fMaRT  (4) RepftiT o13d

86. | In which business, the support service activities are categorized ?

(1) Commercial industries
(2) Primary industries
(3) Secondary industries

(4) Tertiary industries

PC-EE- June-2023[M.Com(Hons)Five Year In¢
38) €grate(] Code-A
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[

87.

In business, why is it essential to make a profit 7
(1) It provides a return to investors

(2) It provides funds for future extension

(3) It increases the reputation of a company

(4) All of the above

Zaad §, A A AEATE H 2 7

(1) 76 PRI @ s 5em & 2

@ a T RER & T A R & E

3) & & A sk § s w R

(4) oG &

88.

L

What is Centralisation ?

(1) Retention of decision-making authority

(2) Dispersal of decision-making authority

(3) Creatingdivision as a profit centre

(4) Opening the new centre of branches

AR 18 7

(1) Frofa sifeer @ @ (2) Fofem sifvar &1 $ar
@) w9 F AW & F= S (@) @t & T dw @

PG~EE—June-2023[M.Com(Hons)Five Year Integrated] Code-A
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No.

¢ lines 18 part of :
, 89. | Grouping of activities on the hasis P’Oduc
/ (1) Delegated organization
| (2) Divisional organization
| (3) Functional organization
(4) Autonomous organization
it ik | M 131 gl £l o | D | e B I A IRRRRRRRRE
(1) J@fd e (2) H9rfig G
l

/ 90. | Preliminary Contracts are :

(1) binding on the Company

(2) binding on the Company, if rétiﬁed after incorporation
(3) binding on the Company, after Incorporation

(4) not binding on the Company

oRfE Sraer B &

(1) ¥ o areer

(2) &I 9T e, qﬁmm%m?%wﬁm
(3) FWHl T TAAK B 99TAR] areyapry

(4) FHHI G e @

|

;
PG-EE-June-2023[M.Com(Hons)Five Year]
(40) ntegrated] Code_A .
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No. — Questions

91. | A proposed name of Comy

any is considered undesirable if -
1 . . . .
(1) Itisidentical with the name of an existing company
2 . .
(2) It resembles closely with the name of an existing company

(3) Itisan emblem of Government of India, United Nations etc.

(4) In case of any of the above

T B AR A S A o 2 Al

(1) 3R 5 gy ol Remm ot S @ |

(2) I Fe PRl e a3 9 Qe o
(3) 3R ¥& ARG WHR, HIH Y AR & TiF fre @
4) I® F @ B o &

92. | The company needs to obtain prior permission from central government

when it changes the address of its registered office from :
(1) one city to another city

- (2) with in the same city

(3) one state to another

(4) one country to another country

Fl F R TR A gd A A A SNaAE Aeft R o 7@ o1 o

.......... qRafdd Ft 2 |
(1) o 9T q A el | (2) I M B T
(3) @W@Wﬁ (4)@33T§§{ﬁi‘sﬂﬁ

?;G?EE-June-zoz?,[M.Com(Hons)Fiv(Zli)fear Integrated] Code-A
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93.

ies of directorg are
. : nd dutie
Powers, rights, remuneration, qualification a

discusgeq clearly i :

1) Memorandum of Association
@) Articles of Association

) Prospectus

(4) None of the above

’meﬁmmﬁﬁﬁ&fﬁw
g

OB L i (2) T s frm

®) s DR R RE

94.
capital.

(1) Equity ) Non-preference

(3) Preference (4) All of the above

......... am*ziﬁ@fmﬂﬁ‘mﬁw‘ﬁmﬁ;ﬁmﬂhmmﬁ%l
(1) |9 g @) -y
(3) watferr (4)'31“3?"“‘@

PG-EE-June-2023 [M.Com(Hons)Fn('z;)Zear Integrated] Code
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95, | e cannot give invitation to the publie to subscribe for any shares in |
or debentures of the company. |
(1) Subsidiary company (2) Statutory company |
(3) Private company (4) Registered company
......... mammmam@ﬁﬁmwmﬁ%m' ;
(1) wErRH F @) AaiF FE |
(3) Feft F (4) ot F
96. | The sharesofa ........... company can be freely transferable.
(1) Private ltd. (2) Publicltd.
(3) Partnership (4) All of the above
. m$eisﬁaﬁgwwﬁmﬁﬁmmwé|
(1) e fifes 2) ufss ffee
(3) e (4) I9gh
97. | Which of the following clause of Memorandum of Association cannot he
altered ?
(1) Name (2) Object

-};GTI‘EE—June-2023[M.Com(HODS)Fi )

(4) Liability
i Py 1 B A aee Tl S a7
(2) IR
(4) AR
ve Year Integrated] Code-A

(3) Situation
Rrefafad & & We
(1) M

(3) W




'\. \

Question\

&N Questions |
98. L\

Application for approval of n

(1) SEBJ

ame of a company is to be made to :

(2) Registray of Companies
(3) Government of India

4) Government of the State in which company is to be registered

M%m%@ﬁmwmﬁm—w ........... H Rar s @ ¥
R 2) T Rrew
@) IR TR

4) mﬁmmmm%
—
. 99,

It is characteristics of

.......... where in one roof goods are sold by making
different department,

@)) Multiple shops (2) Departmenta] stores

(3) Wholesale trade 4) Nonc of these

T ... msww%aﬁmmmmaﬁamahmwamm%:
(1) it gt (2) ey wig
(3) @ amr @) ¥ § 9 7 Bk
100. | Number of goods sold i wholesale trademi\—
(1) More (2) One
(3) Less (4) None of these
% MR 3 T AR A A e
(1) e 2) w
(3) @A @) T & 9 5

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-A
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Quﬁsﬁun Questions
o.

1. | Discounts received are :

(1} Deducted by us when we pay our accounts

(2) Deducted when we receive cash

(3) Given by us when we sell goods on credit

i4) None of these

U1LR] Egﬂ il

(1) =4 ger B o/ v 30l & g $9 8

(2) = B 99 B TE 0e E 2

(3) #at @ fn o § oo En awgell & A O 3 B
(4) T & Fg

9, | Sales invoices are first entered in :

(1) The Cash Book

(2) The Purchases Journal

(3) The Sales Journal

(4) The Sales Account

fef! =l @ UeS & R e g o

(1) s gETF A (2) %4 e
(3) Fma oww ¥ (4) FBFg @i |
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3. | If we take goods for own use we should :

(1) Debit Drawings Account, Credit Purchases Account

(2) Debit Drawings Account, Credit Stock Account

| (3 Debit Sales Account, Credit Stock Account

(4) Debit Purchases Account, Credit Drawings Account

ot @ el @ A @d B g B frg A7 B, @ g FN ST
(1) amerr @ i e, w9 wR A AR

@ T an § e, wiw an | #Ee

(3) Fmg @ # e, ©F T | sk

(4) #@m § e, @ g 7 AR

4. | If a trial balance totals do not agree, the difference must be entered in :

(1) The Profit and Loss Account

(2) A Nominal Account

(3) The Capital Account

(4) A Suspense Account

oy amye % A @ e wE g o & i ST iRy
(1) @w-afr & A (2) TE F @ A

(3) el & A (4) 3= @F §
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5. | Which of the following is a false statement ?
(1) The scope of commerce is narrower than business.
(2) Commerce includes trade and auxiliaries to trade.

(3) Foreign trade is purchase and sale by the traders of the same country.

(4) Traders serve as a link between producers and consumers.

s & 8§ f9-0 o w2

(1) g & &% amEm 3 i F ainf 3

(2) mﬁmﬂwﬁmmﬁﬁmﬁrﬁﬁ

(3) MRt s o% & ¥ & anodl ww fRn T wa E R 3
(4) =, mﬂmm%wﬁmmmﬁ

6. | Which of the following is not a management function ?
(1) Planning (2) Staffing
(3) Cooperating (4) Controlling

FefofEa & 8 F9-m vy o o R 7

(1) FeA e (2) Fgfmal &
(3) &AM HTW : (4) Fra=m &
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Policy formulation comes under which role ?

(1) Top-level managers (2) Middle-level managers
(3) Operational management (4) All of the above

i P P s & o e 8 7

(1) TE-W Ueaey (2) He-TY WEUw

(3) uREwETEE g (4) T ael

Management is defined as :

(1) AnArt {2} A science

(8) Both art and science (4) None of the above
A & oW 39wy A & ol &

(1) @ (2) fam

(3) & o fasm Wt (4) ITRF F & #¢

Which of the below-mentioned item does not follow the scalar chain ?

(1) Funetional structure (2) Divisional structure
(3) Formal organization (4) Informal organization
A Bl R W SR A E A a9 e
(1) #aiEs we (2) warf g

(3) Sl wTe (4) srirEE e
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10. | Which of the element is not a part of the communication process ?

(1) Decoding (2) Communication
(3) Channel (4) Receiver
a1 ed woe o a1 R @ g 7

(1) FE=iET (2) T

(3) o (4) greAt

11.

A proposed name of Company 18 considered undesirable if :

(1) It isidentical with the name of an existing company

(2) Tt resembles closely with the name of an existing company
(3) It is an emblem of Government of India, United Nations etc.
(4) In case of any of the above

Fegdl @ A A S A S § AR

(1) o 7% gas e FEe O A

(2) o a2 Fed R S & 8 - @

(3) af 48 ST O, g TS AR w e f

4) 0w dF A A
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12,

The company needs to obtain prior permission from central government
when it changes the address of its registered office from :

(1) one city to another city
(2) with in the same city
(3) one state to another

(4) one country to another country

Mﬂhwﬁﬁmﬁ#mwﬂfﬁ%wmmﬁﬁﬁm

.......... uRErE FE 2
(1) UF =T & gAt 9= (2) T =T & sy
(3) =% V9 | gay A (4) UF W H g Ay A

13.

Powers, rights, remuneration, qualification and duties of directors are

discussed clearly in :

(1) Memorandum of Association

(2) Articles of Association

(3) Prospectus

(4) None of the above

He H A, afrd, aftafie, dwm an s 6w w5 g R 8w
B

(1) gz & fram (2) T s Frm

(3) fET (4) T & F

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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1 | cveimeriisd share capital has priority both in repayment of dividend as well as
capital
(1) Equity (2) Non-preference
(3) Preference (4) All of the above
......... dar G B oG PEE qu oo e A9 F w8 E
(1) @ -t
(3) AR (4) I Wl
15. | ........... cannot give invitation to the public to subscribe for any shares in or

debentures of the company.

(1) Subsidiary company (2) Statutory company
(3) Private company (4) Registered company
vereen. TR B OTGE! SR R s ElRA w R §
(1) wEEF F (2) A el
(3) Fel e (4) welig F

16. | The shares of & .......oes company can be freely transferable.
(1) Private Itd. (2) Publicltd.
(3) Partnership (4) All of the above
e, TR B ST B OTHE EWOH FEAAG A A WA P
(1) e fafes (2) tRew fifes
(3) R (4) T ali

PG-EE-June-2023|M.Com(Hons)Five Year Integrated] Code-B
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17. | Which of the following clause of Memorandum of Association eannot be
altered ?
(1) Name (2) Object
(3) Situation (4) Liability
e & & orlz dm P a1 de-ar ame g 99 o @E 2
(1) =™ (2) JEw
(3) w&m= (4) afam
18. | Application for approval of name of a company is to be made to -
(1) SEBI
(2) Registrar of Companies
(3) Government of India
(4) Government of the State in which company 1s to be registered
T B A B ST w A F B o g &
(1) @& (2) F9i W
(3) WA T () T 7 wE o e o &
19. [ It is characteristics of .......... where in one roof goods are sold by making
different department.
(1) Multiple shops . (2) Departmental stores
(3) Wholesale trade {(4) None of these
TE oo BT QAN & S A T OF o7 F T Rl R s 39 w2
(1) w=HEE g (2) REuEd=w =
(3) 9% =M (4) 1 § B w7

PG-EE-June-2023|M.Com(Hons)Five Year Integrated] Code-B

(8)



[Juestion
No.

Questions

20.

——— e —

Number of goods 2old in wholesale trade 1s

(1) More (& One

(3) Less (1) None of these
S e v e s et R 7 e

(1) &S (@)

@ @) = A B

21.

Which statement shows the flow of cash and ea sh equivalents during the
financial period 7

(1) Statement of changes in equity

(2) Cash flow statement

(3) Balance sheet

(4) Income ztatement

FA-m far e i & dnm A g AEE @ neE T 37
(1) @ # R @ R (@) 7w e

(3) anffE fzal (4) P

22,

Investment can be defined as

(1} Person's dedication to purchasing a houee or flat

(2) Use of capital on assets to recoive returns

(3) Usage of money on a production process of products and services
(4) Net additions made to the nation's capital stocks -

Frder # 39 sE T B A A 2

(1) =05 1 5FF 9w aiRd & g amim

(2) ufowm mra g9 F Fao Al @ g & odw

(3) TAEl & A W SEEd 96 999 # 39E

() % F UH EF 5 E AR A

= e —
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23. | The concept of Financial Management is:

(1) Profit maximization

(2) All features of obtaining and using financial resources for company

operations
(3) Organization of funds
(4) Effective Management of every company
fexit wee i ammamon & |
(1) & s
(2) wh e & e B s ® e 50 o w6 e 2 g Rea
(3) et F =
(4) % T F OWED g

24,

What is the primary goal of financial management ?
(1) Tominimise the risk

(2) Tomaximise the owner's wealth

(3) Tomaximise the return

(4) To raize profit

it g 1 urifs aeg 7

(1) =ifem g=ag H

(2) w@mdt = wufa afega fo

(3) WM F ARFH FW

(4) @
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25.

GST is a consumption of goods and service tax based on :

(1) Development

(2) Dividend

(3) - Duration

(4) Destination

Sl el T Al & S WA AR o e § -
(1) FEEE

(2) @

(3) FEl

(4) =

26.

From the below-mentioned items which are financial assets ?
(1) Machines

(2) Bonds

(3) Stocks

| (4) Both (2) and (3)

Fraaifes et & @ Sr-dt R wofy & 7
(1) =i

(2) argH
(3) ®I%

(4) (2) 0 (3) &K

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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27. | Which of the following is true ?
(1) The initial public issues are made in primary market whereas all
subsequent issues are made in the secondary markets

(2) Primary markets are legal whereas secondary markets are not.

(3) Primary markets deal in shares whereas secondary markets are meant
for debentures.

(4) Corporates raise resources directly from the investors through the

primary market, whereas in the secondary markets, investors buy
and sell securities from one another.

Frefaflas § & @m-a1 a9 & 7

(1) ariftss et e & i T § 99E 56 9w 3 R s aen
i @ o #

(2) wEiE qrE 3 ¥ s Pk @

(3) Wi & § ofd & a- g § wais fades e wonEt § o A E

(4) ivs dend @9 FAvE @ gEe wetE w0 € o mefE g & a8
2 ¥ oy fadias amnd § FRvs weget @ i el o a9 2

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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28. | Which of the following is TRUE about Primary Markets ?
(1)

Primary market is the place where public can buy and sell sccurities
from one another.

(2)

Primary markets refer to the mobilization of funds from the public

by corporates through the issue of shares / debentures.

(3)

Primary markets are places where only short-term instruments arve
traded.

(4)

Primary markets are markets where commodities are =old,

freififige # & @W-m1 it gl & fog § ga & 7

(1) s S 98 I 2 96 sea Th-ge d ofadfadl aded o a9 b
(2) wraf- IR st AomEn # Pl @ oem & i densd 5o o & St

F AEE w el w E
(3) s ST 98 W B § e daw swEE IvEl @ e B e B
(4) wHitEE IR § TR € o @l A wE B

29. | The holders of which instrument are members of the company and have
voting rights 7
(1) Commercial paper (2) Treasury bill
(3) Debenture (4) Equity :
F-8 foin SRl & anE B & WEE 0§ aw w3 @ s E oY
(1) =i R (2) 3o
(3) =T ™ (4) w9 A

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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{1 T — is the process by which physical certificates of an investor are
converted to an equivalent number of securities in electronic form.

(1) Materialisation (2) Rematerialisation
(3) Conversion (4) Dematerializations

o o & B Re @ AR G # g wer @ g |
e afd & 95 o 2

(1) FdfEamEae (@) ARt
(3) FAaa (4) SRR
31. | Long term assets having no physical existence but, possessing a value are
called :
(1) Intangible assets (2) Fixed assets
(3) Current assets (4) Investments
Sl el R 61 lifeE aftaw T 8 ot I e ffed @ €, e
%
(1) ey weafl (2) R weE
(3) ey (4) Frdar

92, | Partners’ Current Account has ............

(1) Credit Balance

(2) Debit Balance or Credit Balance

(3) Neither Debit Balance nor Credit Balance
(4) Debit Balance

WA & o @R F fa R
(1) #iFe fy (2) e 99 s @R s

@ AW AddRed @ Feim

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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33. | In the absence of a partnership deed, partners are entitled to receive
(1) Interest on loan (2) Balary
(3) Commission (4) Interest on capital
e Bew & s &, amEEr o E9 & EFAN B B
(1) TN 9T =0 (2)
(3) Tl (4) g9 W WS
34. | Ostensible partners are those who .............

(1) Contribute very little capital but get equal profit.
(2) Do not contribute any capital and without having any interest in the

business, lend their name to the business.

(3) Contribute maximum capital of the business.

(4) Do not contribute any capital but get some share of profit for lending

their name to the business.
e geer 4 8 § Al
(1) =7 4 Ot @md ¥ oy A0EE @M O R
(2) ﬁﬁ@ﬁwﬁ%ﬁwﬁ#ﬁﬂﬁﬁmmmmﬂ

3 8
(3) =EEm # s Gt @ dEE 2 ¥
() B Gl T T T O T S A e e A ge R | 5

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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35. | When is the Partnersiiip Act enforced ?
(1) Where there i2 1 partnership deed, but there ave differences of npinion
between the partners.
(2} Whea capital contribution by the partners varies.
(3} When the partner's salory and interest on capital are not incorporated
in the partnership deed.
| i Volen there §s ro partnership deed.
IRERT SR g g S
(1) o= AR foEE am L e e @ d e § i @
(2) =9 WET 5w I & dew B o
(3) v aERA @ A 54 O W em aEed e § aieie q R a
() T wE g e 8
86. | When a Goodwil Account is raised. the eredit is given to the old partner’s
capital account in . '
| (1) Old profit shaving ratio.
(2) (aining ratio,
I {3) New proiit sharng ratio.
id)  Nuna of the aptions are correct.
WG T e i T TS A A G A S R Fear =
€1
1) T A b agad 4 (9) i e
| emy 77 e Tty s () &3 9 e A 2
POLL- Tune-2128M.Uor aidous) Five Year Integrated] Code-B
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37.

What do you mean by super profit ?

(1) Total profit by the number of years.
(2) Average profit plus normal profit.
(3) Average profit minus normal profit.

(4) None of the options are correct.

i o @ ot R 7

| (1) &9 @ & a6 H Hen {9 A

(2) raa @™ ¥ gEE T e
(3) ofrem @ § @ ARG A g2

) F¢ F fre v R

38,

The decizion in Garner versus Murray was given in ............
(1) 1905 (2) 1933

(3) 1804 (4) 1804

e g At & 3w A Rl R o A

(1) 1906% (2) 19339

(3) 1804% (4) 1904%

PC_EE_June-2023[M.Com(Hons)Five Year Integrated] Code-B
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39. | F ollowing are essential elements of a partnership firm except :
(1) At least two persons |

(2) Thereis an agreement between all partners

(3) Equal share of profits and losses

(4) Partnership agreement is for some business
W%mmﬁwﬁmﬁﬁamm%_:

L) 9 F 57 § =y

@) 9 W 3 au UF Hwr @

(3 arT-mfE # T LGk

(4) Wﬁrﬁ'ﬂﬁ?ﬁmﬂmﬁ%ﬁ%mg

' 40. | Which of the following statement is trye ?
(1) A minor cannot be admitted as 5 partner

(2) A minor can be admitted ag o Partner, only into the benefits

(3 A minor can be admitted as 5 partner bui; his rights and liabilities are

| | @ None of the aboye s
| P 7 8 @ T _. -
[ | @ % omwe wde & wvd s w oo VL T
R R TR S et A elier Ron on s b1
[ 7 8 3t o 1 g v s o
R
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41.

Which of the following is not applicable in Life Insurance contract ?

(1) Conditional contract (2) Unilateral contract

(3) Indemnity contract (4) None of the above
Frefeted # # FE-w AT i e § a
(1) R S (2) THIEH FFE

(3) HRfd sy (4) 3wt d & FE

43.

e-commerce does not include

(1) Abusiness’s interactions with its suppliers

(2) Abusiness’s interactions with its customers

(8) Interactions among the various departments within the business

(4) Int&_ractiuns among the geographically dispersed units of the business

(1) &MU & A s 4 awEn

(2) FUE & A7 TEH A TREE

(3) EaY & st e e & 99 A

(4) =aa[ % AiEE ' ¥ EEh wEd $ 1w aE

43.

Social responsibility is:

(1) Same as legal responsibility

(2) Broader than legal responsibility

(3) Narrower than legal responsibility

(4) None of them

AMIE ST #

(1) Rt s & i (2) Foftes ToEam # E9E

(3) Rfrs soElE & @gfad (4) W A 3 W@

PG_EE-_June-2023[M.Com(Hons)Five Year Integrated] Code-B
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(1) Business success

(2) Lawsand regulations

(3} Ethics

(4) Professional management

Pt & & @9-8 @ 3 oy e o e o e & 7
(1) =ZEafE T (2) F o R

(8) Afrwam (4) 9T gE
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No. Questions
B
44. | Which of the following is capable of doing maximum good to society ?

45.

Which item does not cause any business risk ?
(1) Breakdown of machinery

(2) Efficient management

(3) Riot

(4) Changing government policy

frfeitan & & sF-w Bt aaaits Gt & s 58 g 7

(1) =il &t ge-ge (2) F9W &Y
(3) ' C(4) wvEd Al d ofge

PG-EE-June-2023[M.Com(Hons)Fi

ve Year Integrated] Code-B
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46.

@) T W R 3 @ s e 3

In business, why is it essential to make a profit ?
(1) It provides a return to investors

(2) It provides funds for future extension

(3) It increases the reputation of a company

(4) All the above
FEEE |, W ST F amws | E 7

(1) & PRy TR = s

(3 T w5 F ok § ofs w2

47.

(4) www w

To have an effective delegation is important to have a responsibility along
With .oovivenns :

(1) Authority (2) Manpower

(3) Incentives (4) Promotion

T # TaEt 2 & Fe o et @ B st .. & e

(1) e (2) wFEyER

(3) drEET (4) R

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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48, Accounting provides data or information on :

(1) Income and cost for the managers

(2} Financial conditions of the institutions

(3) Company's tax liability for a particular year
(4) Al the above

G I T AR I w0 D

(1) w3 % fow g e v 2

@) T A P e 3

(3) Bt of Riw 3 P o @ grafm

(4) o ad

49,

The assets that can be easily converted into cash within a short period,

Le., 1 year or less are known as:
(1) Current assets (2) Fixed assets
(3) Intangible assets {(4) Investments

Hﬁmﬁ%wﬁ#ﬂm%mﬁaﬁwmﬂm%mﬁmﬁmmﬁﬂ
ot 3@ FT A E

(1) =g ki (2) ot megf
(3) o e (4) Py

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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al.

Which of the following best describes the Principles of Management ?

(1) They help managers to take decisions while performing managerial

functions

(2) They denote a cause and effect relationship

(3) They give guidelines for further action in management functions

(4) Al of the above

Prrfefr o @ - wae B Regr 4 aar are H ¢
(1) 3 s ) v w50 o Pl 3§ s E
(@) ¥ FROT AT G g H I A E

(3) ﬁﬁﬂﬂﬁﬁmﬁmﬂﬁmimﬁmﬁ%ﬂmﬁﬁﬁ

(4) IEw Bl

51.

J—

In the case of admission of a partner, the entry for unrecorded investments

will be :
(1) Debit Partner Capital Ales and Credit Investment Alc
(2) Debit Revaluation Afcs and Credit Investment Ale

(3) Debit Investment Ales and Credit Revaluation Ale
(4) None of the above i

m%uﬁw%mmﬁﬁﬁﬂﬁﬂaﬂﬁmm:

) i G e # 3 T o
(2) Wﬁﬂﬁiﬁfﬂmﬁﬂﬂﬁﬁﬁﬁl
(3) ﬁﬁmaﬁﬁiﬁﬁmﬁﬂmﬁﬁﬁ%ﬁ?

(4) awE A A BT

Fi Yeaﬂntegrated]ﬂmle—ﬂ
PG—EE—Juna—EIJEE "Com(Hons) ngg .
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52. | Sacrificing ratio is used to distribute ............. in case of admission of 4
partner,
(1) Reserves
{2) Goodwil]
(3) Revaluation Profit
(4) Balance in Profit and Loss Account
WWEW‘TW%MHHW# ......... i #37 # fore Rer s &
(1) w=g (2) =iy
(3) Y7eHiET A (4) T-w @ w9y

53. | Trial balance is used to check the accuracy of -
(1) Balance sheet balances

(2) Ledger accounts balances

(3) Cash flow statement balances

(4) Income statement balances

qe9E W ... i EM w ooty & R gder B s 2
(1) onfifs fagd & 9w (2) = amr dy
(3) T mare RETor g (4) =m0 REvor 9y

|
PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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54. | When debit balance is equal to credit balance then the trial balance means :

(1) Account balances are correct

(2) Mathematically Capital + Liabilities = Assets

(3) No mistake in recording transactions

(4) No mistake in posting entries to ledger accounts
o A, 7 A 3 A fe ¥ A e B o @
(1) = S & 8

(2) wirdE w9 # 9 + ofE = A

(3) M- B o A FE T A R

4y T wE § wR o w0 H A T A R

55. | To start a partnership business, what should be the minimum number of

partners 7
(1) 2 (2) 10
(3 4 (4) 20

ﬁmﬂmﬂgﬁmﬁ%mmrﬂﬁwﬁwwﬂm?
1 2 T2 10

@ 4 (4) 20

PG-EE-dJu nepﬂnza[m.ﬂ om(Hons)Five Year Inte grated] Code-B
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p business ?

a6. | What type of agreement is used to form a partnershi

(1) Written agreement
(2) Oral agreement

(3) Written or oral agreement

(4) None of them
ﬁﬂ?ﬁﬁwﬁraﬂﬁﬁﬁmmwmnﬁﬁm%?
(1) Fifes sga (2) i oy

(3) Ffem opmer difas arey (1) @ @ 9

On No partnership agreement, what will be the percentage of profit sharing

57.
ratio between them ?

(1) Unequal

(2) Equal
(3) It will depend on the experience of a partner

(4) It will depend on a partner's capital

el BT SgE & N AN W, 3 4w am @ e war g

(1) EAE

(2) ®9F

(3) ®WEEN & #Fa T AT s
(4) TEET F GH T AT S

PG-EE-June-2023[M.Com(Hons)Five Year Inte grated] Code-B
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a8.

What is a Sole Proprietorship ?

(1) Business owned by President

(2) Business owned by several companies
(3) Business owned by one person

(4) Business owned by a company

A W w4 A R 7

(1) @=y § @ieed 9 S9ay

(2) F5 TG § =t T =219y

(3) uw = & wiym am Zaud

(4) UF Tl & TEiAe ann 9y

59.

Sole Proprietorship 1s most suitable for .

(1) Medium scale concerns
(2) Large scale concerns

(3) Small scale concerns

(4) None of the above

e Wit weliE I @
(1) e Y @ e § W
(2) =2 T % sEEE §
(3) @y b & FEEE % R
(4) =W A A T
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80. | Which of the following is not a function of insurance

! | {1} Risk sharing
|

|! (3) Lending of funds

(2} Aassist in capital formation

|| [H} None of the above
I!ﬁrfﬁn‘mﬁﬁﬁ:r—m%ﬁmmﬂ#ﬁ%?

| | (1) em o= s

@ o P 7w

| (3 e &

| T4 X @ 5iE

The main reason why Principles of Management do not provide readymade

| solutions for all management problems is that ..............

(1) They act as general guidelines for business-related issues

(Z) The real business issues are pretty complex

(3) The real business issues are very dynamic

{4) All of the above
e % g @ ge e & TS /EE e 6 e, mngﬁw

e
| (1) ammﬂﬂfﬁﬁiﬁﬂmﬁﬁﬂ-ﬁ?ﬂﬂmﬁﬁ%

' (2) AT ZAAEE [EE OWEE Wi a E
| (3) anEfeE aEERE 52 4gd ThdE A
(4) Fvge w
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62.

s

Which of the following describes the principle of harnany, not discord ?

(1)
(2)
(3)
(4)

The management should properly investigate any task
The management should engage in scientific enquiry
The management should focus on observation and analysis

The management should share the gains or profits of a company with
their workers

ﬁqﬁm&m—mﬂmmm%ﬁﬁﬁmm?
(1) =g &t Rl ot o & 3 @ g s A
(2) T % T W9 500 9k

(3) WY W SEEE a AR o | A s anw
(4) W Tt T T AN AW FEEnE | A E g

63.

|
e —— — ——— o

Which of the following is the main motive behind carrving out a fatigue|
study ? |

(1) It helps to calculate the standard output for emp ID}’EEE within a tazk

(2) It helps to calculate the expected time taken for employees to complote|
their tasks

1
(3) It helps to calculate the duration of rest intervals given to employees

(4) None of the above

Prefafian & & F-81 W A9 5 & 98 @1 9@ awiw B 7

(1) g% Pt & # SE0GE 3 T I R v FG O wEE w3

@) T FEiE B0 I I8 WA A W R waln e e s
A w ¢

@) oz e & BE R B ot o sy e 5§ s e 2|

(4) Eﬂﬁﬁﬂﬂqﬁ '

: |
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64.

: _— ardiza
Which of the following is the main objective of stand

business ?
excellence within 4 company

(1) It helps to establish standards of
fixed sizes, features or types

(2) It helps to reduce products to
arious parts

(8) It helps to bring in more significant exchangeability of v

(4) All of the above

Pt 7 & F7-r w3 A # wd IR E

(1) =& =94 7 Ieg=ar & W & fAaie B 8

2) T T B P o, Rl s sl § wpig F 3 wedd B ¢

(3) & Rfi= e ¥ sl weeyy BT § gEE T 8
(4) I wh

65.

The principles of management serve as a general guideline for ...........
(1) _ Decision making (2) Managerial actions

(3) Both (1) and (2) are correct (4) Both (1) and (2) are incorrect
o & R .. ® RO A Ry @ o e E

(1) Fofa (2) THFER FrfaTEl

(3) (1) em (2) 3 wé B (4) (1) Far (2) 35F Tog ¥

66.

By profession, F.W. Taylor was a :
(1) Mechanical Engineer (2) Mining Engineer
(3) Psychologist (4). Human Resouree Officey

aﬂﬁ,%ﬂﬂaﬂ?&

(1) f@Fwa it (2) wefi i
(3) et | (4) TG HE S
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67.

The P.I'inf:i]i.]-ea of management have been dE‘h‘-E:lD'DE‘d on the basis of ;

(1) Observation
(2) Experimentation

(3} Personal experiences of the manager

(4) All of the above

e & T 3t 2w anur ot Rt R @ B
(1) (2) T8

B) "% % APE apE (4) 3w

68,

The application of this principle of management leads to higher production

and better work for the same effort. Identify the related pﬁnniple of general

management :
(1) Discipline (2) Equity
(3) Division of work (4) Order

s % 6 oI 1 SR W S o S o e A o
ﬂﬁﬁl%lmﬂﬁmfﬁiﬂmﬁﬂﬁﬁﬂm:l

(1) P et S

(3) F e | (4) My

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-B
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69, Em:nr-ding to Henri Fayal,
viclated, “autharity

| |

if this principle of general management ig
is undermined, discipline is in jeopardy, order disturbed
and stabiljty threatened » Identify the principle.

(1) Authority ang responsibility

(2) Diﬂﬂip]ine |

(3)  Unity of Commang
(4)  Equity

hﬁ%ﬂ%ﬂﬁﬂmﬂﬁﬂmmtmmmmﬁmm%ﬁr“ﬂfﬁ?ﬂ

a@rmmmﬂi.mﬁmmﬂﬂtmwﬁ%ﬂ?mﬂmm E
o By SRR I e

(1) aﬂhqr{aifaﬂmﬁa
(3} cmsr P v

(2) srgeme | -“

T0. The technique of differentia] piece

(1) Discriminate between efficient and inefficient workers
(2) Reward the efficient worker

(3) Motivate the inefficient workers to perform better
(4) All of the above

hﬁﬁ'mﬂmﬁmﬁnﬂﬂﬂiﬁmmiﬁt%ﬁiﬁmmﬂm:

[
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T1.

Securities premium can not be applied e

(1) For paying dividends to members

(2) For issuing bonus shares to members

(3) For writing off preliminary expenses of the .;.;.n;;pan:.r
(4) For writing off discount on issue of debentures

(1) W @ e g § R i 5

(2) TEE @ GWE S F Pl T F

@) TR B o o et B0 5

(4) ﬁﬂﬂﬂ%ﬁrﬁmwﬁﬁnﬁa@ﬁamﬁﬁmmﬁﬁm

TE-I-

What does reserve capital mean ?

(1) Apart of subscribed unecalled capital

{(2) Reserve profit

(3) A part of capital reserve

(4) A part of capital redemption reserve

H‘Fﬂﬁﬁmﬂﬂﬁﬁ? :
() e e O W EE AT r
(z) dfed T

{mliaﬁmﬁfﬂﬁm

@ mamEET I e
Mﬂﬂdm‘}ﬁiﬁﬂﬂ Tntegrated] Code-B
@3{[4[. o 83 .‘5.'“
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e M
but offered to @ selected group
ue ou

No.

' : 1c 188
An issue of shares that isnot & public 18

(1) Nominal value of shares
(2) Market value of shares
(3) Called-up value of shares
(4) Paid-up value of shares
a sl weT & fod W B ol POt @ H e R e &
(1) et & s T B 7Y |

(2) gt & T 5E &
(3) st & afem 959 ® 9
(4) ois B ew T F G

73.
of persons is called ..o
(1) Public offer
(2) Private placement of shares
(3) Initial public offer
(4) None of the above
mﬁmmﬂmﬁmmﬁammﬂmwﬁ%ﬁm
femar mar &, FEam g
(1) wdatF e (@) sigh @1 Pl @I
(3) shfimm whees Sfwe (4) Twgs § & FE T
74. | When shares are forfeited, the share capital account is debited with ........

PG‘“EE—JHBE-Eﬂﬂﬁmcﬂm{H{mE}Fi?H }’Hﬂr Integrated] Code 3
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Balance of { % |
it shares account after the reissue of forfeited shares 18
transferred tq

1) Profi
(1) 1t and Loss A/ (2) Capital reserve account

3 G -
(3) eneral reserve account (4) None of the above

ﬁmﬁﬁﬁmmmﬁ%mﬁ%mgﬁaﬂm ......... ﬁm
fFar = #

(1) @m-af & (2) yof Heg @

(3) W WY @R (4) T 7 | A T

76. | Premium on the issue of shares is shown on which side of the balance sheet 7
(1) Assets (2) Liabilities

(3) Both assets and liabilities (4) None of the above

s & ff ¢ i Fee & B o e o & 2

(1) w=i (2) =fom
(3) et qn A (4) Iwgw F § = T

i When assets are subtracted from liabilities it will be equal to :

(1) Capital (2) Net income

(3) Working capital (4) Goodwill
mﬁ@mﬁﬁmm%ﬂwmmm:
o]
)y gt @ @) g% 9| F
(1) 9o
(3) wdafte il & | (4) T 5

/’ﬁ‘-’—ﬁ_ Year Integrated] Code-B
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78. | Profit & Loss statement is also known as :
(1} SBtatement of earnings
(2)  Statement of balance sheet
(3) Statement of operations
(4) Statement of income
S-EIN FET f a o wer o B
(1) B/ o 7 e (2) afds fgd @ BT
(3)  aftEw R © (4) o
+ 79, | Which of the following options is not recorded in the Balance sheet ?
(1) Cash {2?. Rent expenses
(3) Building (4) Goodwill
Pl  Fr-a SR fed 3 ot o fer o 7
1) T (2) B =g
@ RRET (i
80. | The main operation expenses of a business are termed as :
(1) Operating expenses (2) Non-administration expense
@ Se!hﬁg expenses (4) Administration expense
g F P IRE & fegn i
(1) R = @) TenaERE A
3 faskl = (4) wmaEE =g
c ﬂm{Hnns}ﬂvﬂ Yaar Iutugrated] Code-B —=
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g1. | Out of four pg; :
Points whjey, is not ap economic activity ?
(1) Productign :

(2) Social service
(3) Professiong) ]

mmﬁﬁﬁﬂﬁﬂqﬁq
(1) TS
(3) Tam

(4) Trading in goods
it ot el @ R 2

(2) w\rfrg dar

(4) TEg# | F9-34

82. | Which option is not a business activity 7

(1) Production of goods (2) Transportation

(3) Exchange of goods (4) Work in a factory for wages
Fr-a Ferey Ewfes e Tl 8 7

(1) aEgall = IR (2) WREe

@) aEt @ AFEE (4) wogh F fog d A Fm wen

83. | Oil refinery and sugar mill are classified under which industries ?
(1) Primary (2) Secondary
(4) None of the above

I T R
(2) Taamas
(4) ST T &

(3) Tertiary

et qivearen AT
(1) s

(3) TATF

e (Hons)Five Year Integrated] Code-B
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84. | Identify the activity which does not support trade :
(1) Banking (@ Warehousing
(3) Insurance (4) Mining
T M e AR @ a6 e T e
(1) &fpm (2) FGTERGT
(3) dm (4) &
85. | In which occupation people get salary or wages in return for their we}rE
(1) Employment (2) Business
(3) Profession (4) None of the above
e U 9 =fn ot & 2 ame qwigd @ dda O FO § 7
(1) W (@) =
(3) Aam (4) T 3 9

86. | Accounting furnishes dataon:

(1) Income and cost for the managers

(2) Financial conditions of the institutions

(3) Company's tax liability for a particular year
(4) All the above

FGFT covereene T HAIFS T FTEAE

(1) v & fe S| T are

(2) el @ R fm

(3) o i Rdm & B FH ® oo

(4) I A
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€ repaid Within a short period (
1 iy
(1) Current hahllitie_s (2) Fixed]j

u ‘ K 35
(3) Guntmg‘ent liahilities e

a year or less) are

N - (4) All the above
Wﬁ{%ﬁmaﬂﬁm]%wfﬁmw% P FE g
() w2 @ o s | 3
(3) oTHEE e (4) Ela%ﬁﬂw
89, | Gross profit is :

(1) Cost of goods sald + Opening stock

(2) Excess of sales over cost of goods sold

(3) Sales fewer than Purchases

(4) Net profit fewer than expenses of the period

T A 8 g

(1) ¥ 74 A 4 AW + P K

(@) ¥ R A ) A R A

@) WA | |
(4) o fadw & o & L

— Five Year Integrated] Code.
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: Jeable condition should be
90. | The charges of placing commodities into 2 53
charge to :
f
(1) Trading account (2) Profit and Loss &/C
(3) DBalance sheet {4) None of the ahove
TR A P A R v @ s AR R ST AR -
(1) = @ § () Fw-afy @ A
(3) it Frger # (4) oodw § & w8 T
91. | Who suggested product, pricing, place, promotion all these in a company
represents “Market Mix” ?
(1) Neil Borden (2) Neilsen
(3) Philip Kotler (4) Stephen Morse
. qﬁﬁﬁiﬂﬁzﬁﬂlﬁim,ﬂﬁmﬂ,ﬁﬁ,wiﬁmﬁmﬁﬂ e S
L G e )
{IJ #ﬁ Fi’li‘-r {2] ;ﬁ;ﬁ:‘:‘.
(3) FEferg Siewy (4) e a5
92. | This P is not a part of the 7Ps of marketin g mix:2
{1} Promotion I:E} Pl"ice-
(3) People (@) Purpose
& P [ B & 7P @ v W@ i
) @ g
@) g b v

PG-EE-June-2023[M.Com(Hons)F ivﬁearl\\/#
(40) Im’“’g"ﬁ‘te“ﬂl Code-B
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43. m
to make 4 0 sepyi .
(1) Prnﬁ: lz::: ]: Profitiy :::e: :hi‘:h the offer itself is not intended
(2) Virtua] o el
(3) Digita] 1 at tm%
@) Non-profit ting
g s e 3 2 T T8 8, 7 FEE
(1) a9 R Loy
= ) e (4) "T-Tm fao
4. | USP is defined as -
& | (1) Unique selling price -
(2) Unique sales preposition
(3) Unique selling proposition
(4) Unique strategy promotion
g o o 2 R E ' |
() i T T (@ T AW A
| @ g e AT (4) T Tl e
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iy
ge number qof

95.

(8) T=9 amuita #wa Faior () R oaEd

ce for attracting & lar

The process of setting a low initial PI*
¢ share is known 88 :

buyers quickly to cover a large marke
(1) Going-rate pricing

(2) Market penetration pricing

(3) Value based pricing

(4) Skimming pricing
ﬁﬁﬁﬁaﬂﬂmmmﬂﬂmmaﬂmﬂﬁﬂ?ﬁﬁqﬁ%

Rre oo &9 ged vEd 3 N @ Fed 6
(1) wafer &7 o€ 99 Fefer (2) =T mEE IR

26.

In which business, the support service activities are categorized ?

(1) Commercial industries
(2) Primary industries
(3) Secondary industries

(4) Tertiary industries
Brg =g §, gerg g9 R oien 6 o

(1) =i 4 (2) "R e
(3) s T (4) Tigs
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@) v Wi

98. | What is Centralisation?
(1) Retention of decision-making authority

(2) Dispersal of decision-making authority

(3) Creating divisionasa profit centre

(4) Opening the new centre of branches

S o & !
) Wmﬁﬂ-}r{aﬂam (2) Fofa afeFr # Gee
@ g g © R R e

bs | _////Fﬁr;'rlntegramd]ﬂﬂd :
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99. Grouping of activities on the basis pt‘ﬂdu’:t’ lines 18 part "
(1) Delegated organization
(2) Divisional organization
(3) Functional ﬂrganiﬁtiﬂn
(4) Autonomous organization
T X B S AR @ T e & @ 9 €
(1) wemEfm & (2) waFiE FET
(3) =gE T (4) &R e
100. | Preliminary Contracts are :

(1) binding on the Company

(2) binding on the Company, if ratified after incorporation -
(3) binding on the Company, after incorporation

(4) not binding on the Company

gt agEe B E

(1) @ 0 S

(2) Mmmmiﬁrﬁ,wﬁmwﬁmﬁaﬁmmwg{
(3) FuI WX HEAE & W A

(4) FEH O A T

PG-LE-June-2023[M.Com(Hons)Five Year Integrated] Code-B

(44)




SET-“Y”

(Total No. of Printed Pages : 45)
(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU ARE ASKED TO DO SO)

. . -2023
P.G.(Hons.)-June-2 o o 10391

Code C M.Com(Hons)

Five Year Integrated

Time : 1% Hours Total Questions : 100 Max. Marks : 100

Roll No. (in figure) (in words)
Name: Father’s Name :
Mother's Name : Date of Examination :

(Signature of the candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/

INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.

1. All questions are compulsory.

2. The candidates must return the Question book-let as well as OMR
answer-sheet to the Invigilator concerned before leaving the Examination Hall,
failing which a case of use of unfair-means / mis-behaviour will be registered
against him / her, in addition to lodging of an FIR with the police. Further the
answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by

_the candidate. :

4. Question Booklet along with answer key of all the A,B,C and D code will be
uploaded on the university website after the conduct of Entrance Examination.
In case there is any discrepancy in the Question Booklet/Answer Key, the same
may be brought to the notice of the Controller of Examinations in writing within
24 hours of uploading the same on the University Website. Thereafter, no
complaint in any case, will be considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answenr-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer,

7. Use only Black or Blue BALL POINT PEN of good quality in the OMR Answer-
Sheet. .

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE

EXAMINATION.




Set-Y
Code—C

uestion
No.

Questions

1.

The main reason why Principles of Management do not provide readymade

solutions for all management problems is that ..............

(1) They act as general guidelines for business-related issues
(2) The real business issues are pretty complex

(3) The real business ‘issues are very dynamic

(4) All of the above
qaer B T O e gawel &1 (SIS GHIEH YaH el HY, TR e H 4E

g & | |
(1) awwﬁg@ﬁ%mwﬁm—ﬁ%ﬂmmm%

(@) anERE wgaRE P S o o ¥
(3) anfie @adiis ge d9gd el ad @

(4) T Al

Which of the folloWing describes the principle of harmony, not_discord ?
(1) The management should properly investigate any task |

(2) The management should engage in scientific enquiry
(3) The management should focus on observation and analysis

(4) The management should share the gains or profits of a company with

their workers
ﬁmﬁiﬁaﬁﬁ‘aﬁ?—mwwﬁmﬁ%ﬁ%ww?v
(1) g A et ot @t @ S A S B Al
(2) e @ AER S BT e
3) e ) ST T R W AT B HT =Rl
(4) Wﬂaﬁmwmmmﬁﬁﬁwmaﬁq
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3.

Which of the following is the main motive behind carrying out a fatigue
study ?
(1) It helps to calculate the standard output for employees within a task

(2) It helps to calculate the expected time taken for employees to complete

their tasks
(3) It helps to calculate the duration of rest intervals givqn to employees
(4) None of the above ‘
i & @ -8 abe S B & 98 # ged 35w § 7
(1) 7= Meild &1 § HifE & ame ST @ T 6§ e & 2|
(2) & FHARG & ST HM H W HA § 7 1@ TG a9 F A F6 A
TEr HIT B |
(3) TB FHH=IG ®l f&d 1 R sraaa & orafy & oW FA § gerdr & B |
(4) SUEw X & A T

Which of the following is the main objective of standardization within a
business ?

(1) It helps to establish standards of excellence within a company

(2) It helps to reduce products to fixed sizes, features or types

(3) It helpsto bring in more significant exchangeability of various parts
(4) All of the above

Frefofad & @ @I9-A1 @ § a6 & 59 3R 8 7

(1) 3g FE ¥ Iepeal & AFS F MR Har @

(2) Te Il H FRE ST, el e wBrt & < FY ¥ germr B ¥
(@) T R aET %) S Teaget R germar B &

(4) STYH @i
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5. The principles of management serve as a general guideline for ...........
(1) Decision making (2) Managerial actions

(3) Both (1) and (2) are correct (4) Both (1) and (2) are incorrect
T B RGN oo R @ RetRy @ e ¥

(1) Fefas ~ | (2) TIH HEATE!

(3) (1)@ (2) & wEr (4) (1) (2) A o ¥

6. By profession, ['.'W. Taylor was a :

(1) Mechanical Engineer | .(2) Mining Engineer
(3) Psychologist (4) Human Resource Officer
39 @, e, 3 A
(1) Fefed golax (2) wEHT gefifrE
(3) HAIdsIE (4) AT Hary e
7. | The principles of managemenf have been developed on the basis of :

(1) Observation

(2) Experimentation

(3) Personal experiences of the manager

(4) All of the above

ey & Rrsril @ gq emaR W et R mar @
(1) gaEd (2) WM

(3) YUF & AR AT (4) Sugh adl

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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o/ 7]

L S e i - production
The application of this principle of management leads to higher p

and better work for the same effort. Identify the related principle of general

management :
(1) Discipline (2) Equity
(3) Division of work (4) Order

T RS SR e s A ol o q s am A o
éam%mmmwa%gam@aqﬁwaﬁmz

(1) ST @)

3) @@ fvem (4) mey

According to Henri Fayol, if this principle of general management is violated,

“authority is undermined, discipline is in jeopardy, order disturbed and

stability threatened.” Identify the principle.
(1) Authority and responsibility
(2) Discipline

(3) Unity of Command

am %n" gq Rma #1 YgaH aﬁfﬁm :
(1) #fewr wg Iy (2) e
() ey AN ogar (4) a9 sigr
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e

The technique of differential piece rate system was developed by Taylor in
\ order to :

(1) Discriminate between efficient and inefficient workers

- (2) Reward the efficient worker

(3) Motivate the inefficient workers to perform better

- (4)  All of the above

i eE R I @ T I 3 e g
(1) W A e A ne R ae %

(2) W AP B R A F R

(3) s A @ o orel F @ R AfRd e

\ (4) THgH A

11. | Inthe case of admission of a partner, the entry for unrecorded investments|
‘1 will be :
\ (1) Debit Partner Capital Alcs and Credit Investment :\/e¢
(2) Debit Revaluation Alcs and Credit Investment A/c
(3) Debit Investment A/cs and Credit Revaluation A/c |
(4) None of the above
AEET & ude & and, seifatad a9 afafe e
(1) a@er & goft mdl A 2fae qar aw aid i e
(2) e il i 2 qar faw ad e
3) faag @l 7 e dur gojedr ad e
(4) I A A 418 H

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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12. | Sacrificing ratio is used to distribute in casc of admission ol a

partner.

(1) Reserves

(2) Goodwill

(3) Revaluation Profit

(4) Balance in Profit and Loss Account

T STAI 1 ST AR & JAT B e F ... faafd & & foe fman s B
1) =9 (2) =
(3) JTcgiET W (4) -8 @ @ Ay

13. | Trial balance is used to check the accuracy of :
(1) Balance sheet balances

(2) Ledger accounts balances

(3) Cash flow statemént balances |

(4) Income statement balances

TR @ v 31 e A it & R s R o 3
1) i fogd @ 9y (2) ¥ @@ Ay
3) T wEE faer 9y () o e Jy

PG-EE-June-2023 [M.Com(Hons)Five Year Integ
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14. | When debit balance is equal to credit balance then the trial balance means:

(1) Account balances are correct
(2) Mathematically Capital + Liabilities = Assets
(3) No mistake in recording transactions

(4) No mistake in posting entries to ledgei‘ accounts
ST AW W, S A9 B aER A & A qove & o §
(1) @ A9 T&E -

@) TR w9 A uSht + e = A
(3) A9 @Y &t F A HE T Tl 8
(@) & @ F sRRed ot e & B R T E

15. | To start a partnership business, what should be the minimum number of

partners ?
1) 2 2) 10
(3) 4 @) 20

@wﬁm’ﬁwﬂmg{szﬁﬁ%mm_'aﬁwmwﬁmﬁq?
1D 2 @ 10

3) 4 . 4) 20

L

PG-EE-June-2023 [M.Com(Hons)Five Year Integrated] Code-C
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16.

What type of agreement is used to form a partnership business ?
(1) Written agreement

(2) Oral agreement

(3) Written or oral agreement

(4) None of them
@w@mﬁwéﬁmﬁﬁmwuaﬁre@qqmvﬁ%?

(1) Fifed srgaer (2 fifas sgE

(3) fIfRad srear Aifg® ojae (4) % Q Fe 72l

17.

On No partnership agreement, what will be the percentage of profit sharing

ratio between them ?

(1) Unequal

(2) Equal |

(3) It will depend on the experience of a partner

(4) It will depend on a partner's capital
mﬁmﬁaﬁma%mﬁ%%méﬁawﬁwaﬂqmmm?
(1) om@aH

(2) 9aH

(8) TEER & S1g"d T fvfR &am

(4) WEHER & et ¥ Mt s

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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18. | What is a Sole Proprictorship ?

(1) Business owned by President

(2) Business owned by severalvcompanies
(3) Business owned by one person

(4) Business owned by a company

el W@ e & 7

(1) 3798 & @i drl A9ard

2) B FEEE & @i a Gaqs

(3) U ARk & WA I HIdE

4) T FE 3 i a2

19. | Sole Proprietorship is most suitable for :
(1) Medium scale concerns
(2) Large scale concerns

(3) Small scale concerns

(4) None of the above
g @i daiE U @
(1) #e59 YA & @gaEt & fg
2) a2 WM & @aanl § [
3) @9 TR & @ & g
4) I q AE Tl

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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NU, o ——
D M ' p N . q i . > e ' aqnee 9
20. 1 Which of the following is not a function of ingurance -

| N
| (1) Risk sharing (2) Assist in capital formation

(3)  Lending of funds (1) None of the above
=fiad d @ a-ar o a1 w76 2 2
(2) it Fafor & FErgEr A7

(1) 39 4 § F TEI

(1) FRaw a= g

(3) &9 TR A

21. | Out of four points which is not an economic activity ? '

(1) Production (2) Social service

(3) Professional (4) Tradingin goods
et A fagal 7 @ #9-dr anffe Tffafy 74 & 2
(1) e (2) A A ;

(3) am (1) TG & -2 ,

22. | Which option is not a business activity ?

(1) Production of goods (2) Transportation
(3)  Exchange of goods (1) Work in a tactory foy wages
b N

-4l fagay agaifas fafafy A

(1) awqsil &1 I ) uitaeT
() Sl a1 fafer O

PG-EE-June-2023|M.Com(Hons)Five Year l;lﬁt‘,ggmted] Code-C
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93, | Oil refinery and sugar mill are classified under which industries ?
(1) Primary (2) Sccondary
(3) Tertiary (4) None of the above
35 shsrer AR I B B g @ el arfiga e S # 7
(1) 2) fada®

(3) FEE (4) SWF 7 @ &3 T

94. | Identify the activity which does not support trade :
(1) Banking (2) Warehousing
(3) Insurance (4) Mining

39 TERER # TeEE #IT o ANR # 9eEE el 8

(1) dfFn (2) dETERiyT
(3) dmr (4) @

25. \ In which occupation people get salary or wages in return for their work ?

(1) Employment (2) Business

(3) Profession (4) None of the above
o 991 & afer om 1 & ded ol 9r A UK X § 7
(1) (2) @aqy

(3) am (4) I 1A @

PG-EE-J une-2023[M.Com(Hons)Five Year Integrated] Code-C
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26. | Accounting furnishes data on:

(1) Income and cost for the managers

(2) Financial conditions of the institutions

(3) Company's tax liability for a particular year

(4) All the above

1) s B fT o qur g -
(2) weasl @ faxig Rafy
(3) T ¥ Ay & U & & F¢ afw

4) Twgh ad

27. | Copyrights, Patents and Trademarks are :

(1) Current assets '(2) Fixed assets
(3) Intangible ass.ets. (4) Investments
20T ARERT, T a1 AR foe §

(1) @ @t (2 @ gk
(3) gt wwftl (4) Fag

28. | The debts which are to be repaid within a short pe11od (a year or less) are
referred to as :

(1) Current liabilities (2) Fixed liabilities
(3) Contingent liabilities (4) All the above
amwaqma(%wmmw)%emmw% H Fed Y

(1) =1 e (2) wrh T
(3) oS afeE (1) I0F oy

PG-EE-June-2023[M.Com(Hons)Five YearInte
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29.

Questions

Gross profit is :

(1) Cost of goods sold + Opening stock

(2) Excess of sales over cost of goods sold

(3) Sales fewer than Purchases

4) .Net profit fewer than expenses of the period
GECACIC IS

(1) ﬁ@maﬁw+m{ﬁ%m

@) 3T T A A A

3) %4 q P farg |

(4) g Ry & &g q B IS A

30.

The charges of placing commodities into a saleable condition should be

charge to :

(1) Trading account

(2) Profit and Loss a/c

(3) Balance sheet

(4) None of the above
m@eﬁﬁﬁmmﬁaﬁﬂwﬁwnﬂnqﬁmmmm:
(1) =R @ A (2) r-efy @ A

(3) o fager # (4) S9gw A @ A3 Tl

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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31.

A proposed name of Company is considered undesirable if :

(1) Itisidentical with the name bf'an existing company

(2) It resembles closely with the name of an existing company
(3) Itis an emblem of Government of India, United Nations etc.
(4) In case ofbavny of the above |

T F ARG A SiEE A o ® s

(1) 3 78 gag f5elt femm e S &)

@) % T Bl R A S o @

(3) W%WW,H@WWW&:WW%%Q

(4) 3G F g off

32.

The company needs to obtain prior permission from central government

when it changes the address of its registered office from :
(1) one city to another city | '

(2) within the same city

(3) one state to another

(4) one country to another country

mﬁﬁ%wﬁwmaﬁaﬁmsmﬁeﬁ%

9 T ST Sl gt
.......... uftafda &t 21

(1) TF T & gt qex (2) S M F oy

3) T ¥ q gl A (4) TF 2T & gy 2y 3

PG-EE-June-2023[M.Com(Hons)Five Year InW
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33. | Powers, rights, remuneration; qualification and duties of directors are
discussed clearly in :
(1) Memorandum of Association
(2) Articles of Association
(3) Prospectus
(4) None of the above
A %) S, o, e, A q A B e w A e @
2
) T @ R @) Wi s P
@ s @ T A A AT
34, | oo share capital has priority bpth in repayment of dividend as well as
capital.
(1) Equity (2) Non-preference
(3) Preference (4) All of "the above
......... giqr Ot @1 aie I qor goft e A F e o A 2
(1) o S 2) R-gatferee |
(3) WEIHR ) Wé?ﬁ a4t |
L

PG-EE-June-2023 [M.Com(Hons)Five Year Integrated] Code-C
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35. | cannot give invitation to the public to subscribe for any shares in or
debentures of the company.
(1) Subsidiary company (2) Statutory company
(3) Private company (4) Registered company
......... A & FOE rEr fRl sfer # @l @ e JE S gl
(1) |edd FHH (2) auih HHT
(3) il el (4) Ul T
36. | The sharesofa ............ company can be freely transferable.
(1) Private Itd. ' (2) Publicltd.
(3) Partnership | (4) All of the above
......... FA & St F PR GO Q@ EwIARa BT o der 2
(1) wrde fafes (2) dfers fafaee
(3) @EER (4) I9Gh |
37. | Which of the following clause of Memorandum of Association cannot be
altered ?
(1) Name (2) Object
(3) Situation (4) Liability
frefafaa & 4 qdg dmn fgm & #9-a1 a sear 98 s qear ?
(1) @) IR
(3) (4) TR

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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38. | Application for approval of name of a company is to be made to:
(1) SEBI

(2) Registrar of Companies

(3) Government of India

(4) Government of the State in which company is to be registered

different department.

FOA B A B STHIET B ORA-T F Rar T A B
(1) [t (2) F MR ‘
(3) XA AIHR (4) T % TXhR s e doiigd 2
39. | It is characteristics of .......... where in one roof goods are sold by making

L

(1) Multiple shops (2) Departmental stores
(3) Wholesale trade (4) None of these
o 1 fadye & Rl A A 0 57 B A A A et T ST B
(1) weE gl 2) feurdi=a wrd
(3) 9% ANR 4) T & g T
40. | Number of goods sold in wholesale trade is : N
(1) More (2) One
(3) Less (4) None of these
e @ & A9 S i A @ e el @
(1) s (2) &
3) (4) T @ ) T

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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' Securities premium can not be apphed ...
. OC E

[

| (1) For payving dividends to members

' (2) Forissuing bonus shares to members

- (3) For writing off preliminary expenses of the company

| (4) For writing off discount on 1ssue of debentures

ey T F AT TR F R

| TSR @ i o g@m 98 fear o1 e

@ A @ A st A e e 3 R

(3) m%m@mmﬁmﬁmm%m

(1) wﬁ%ﬁﬁmwfé&nﬁﬁ%ﬁm@am%m

42. | What does reserve capital mean ?

(1) A part of subscribed uncalled capital

| (2) Reserve profit

(3) A part of capital reserve

(4) A part of capital redemption reserve

At gofl a1 aa a4 & oo

(1) afdd smfad yoft @ og; apy

(2) dfad ay
(3) 9ot & g1 ug sy
) 9 e geg a1 o

Fr‘Ith;m;atcd] Code-C |
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- 43, | Anassue of shares that is not a public issue but offered to a selected group
of persons 1s called

(1) Public offer

(2) Private placement of shares

\ (3) Initial public offer
\

\ (4) None of the above

\eisﬁmﬁhﬁwmmmﬁ%mm%m@mwﬂmﬁa
\MW%,W%:
\

(1) FEEHE e (2) ot 1 Frell <iEde
\(3) HEIFOSINESEC R (4)3¢g?ﬁff€faﬁéﬁﬁl

44. | When shares are forfeited, the share capital account is debited with

(1) Nominal value of shares

(2) Market value of shares

(3) Called-up value of shares

(4) Paid-up value of shares

T g W e o B siw ool w @ e R st @
(1) dof & oifgd ged & |

(2) 9l % e ged & W

(3) st % afgd yea &

(4) el & 9e9 e & 9

PG_EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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45. | Balance of forfeited shares account after the reissue of forfeited shares ig
transferred to .............
(1) Profit and Loss A/c
(2) Capital reserve account
(3) General reserve account
(4) None of the above
S 58 T SRl B QAT B @ a1 STedsEr Si @ # A ERISIRIEG
foban e &1
(1) dr9-giir @ - (2) 9o d=E @
(3) WM H9¥ @il (4) I9GH 7 q FE T
46. | Premium on the issue of shares is shown on which side of the balance sheet ?
(1) Assets (2) Liabilities
(3) Both assets and liabilities (4) None of the above
ATl & et o e dsie & R ok Remar o 2
(1) wwfEr (2) TR
(3) WHRMET T e =l 4) S9GE & ¥ 9 7
47. | When assets are subtracted from liabilities it will be equal to -
(1) Capital (2) Net income
(3) Working capitzl (4) Goodwill
mmﬁﬁaﬁmﬁﬁmw%a}%wma@q;
1) & 2) gs oW 3
3) P goft 4) @ §

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Coge.c
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48. | Profit & Loss statement is also known as :
(1) Statement of earnings  (2) Statement of balance sheet
(3) Statement of operations (4) Statement of income
qg-gi fawer @ g8 o FBr o g
1) it o 1 fEEr ) e fagd @ faaxe
(3) REm faaweT (4) 9@ @ faaxe
49. | Which of the following options is not recorded in the Balance sheet ?
(1) Cash (2) Rent expenses
(3) Building (4) Goodwill
Rrffed & @ @ie-ar oniis fogd & aof 7 fear w7
(1) el (2) far =g
3) fafeem (4) w@fa
50. | The main operation expenses of a business are termed as :
(1) Operating expenses (2) Non-administration expense
(3) Selling expenses (4) Administration expense |
FaEE & e GRe 2 # FE S |
(1) uREwe =3 (2) -yemafis: =g
@) Rt @@ (4) gaEiE A
51. | Which of the following is not applicable in Life Insurance contract ?

(1) Conditional contract (2) Unilateral contract
(3) Indemnity contract (4) None of the above
ﬁaﬁmﬁﬁaaﬁﬂ-mwzﬁm%‘wﬁmaﬁaﬂ? :
1) @ eges o (2) W FEg
(3) il SIT . (@wﬁﬁ@rmq—a

L

PG—EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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52. | e-commerce does not include : \

(1) Abusiness’s interactions with its suppliers

(2) Abusiness’s interactions with 1ts customers

(3) Interactions among the various departments within the business

(4) Interactions among the geographically dispersed units of the businesg
S-amd § afef 125 Y

(1) =R & o smfiesatal & g

(2) AR B AW TEHt F Ay

3) aEM & R Rl R 3 ey A

4) ZJIEE F s w9 A qEd 3 mEd 3 ney gy

93. | Social responsibility is :

(1) Sameas legal.resporié;ibility

(2) Broader than legal responsibility
3) Narfower than legal responsibility
(4) None of them

qIfore ITREE ¥

(1) fafew swafaE & wify

(2) fafow SoeefaE @ s

(3) fafes SH@ite @ g

4) 3 q 5

PG-EE-June-2023 [M.Com(Hons)Five Year Integy
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54.

Which of the following is capable of doing maximum good to society ?

(1) Business success

(2) Lawsand regulations

(3) Ethics

(4) Professional management

Preffefed § & @18 ar & oy ot o wt X @ @ 2
(1) @@ aead @) T e R

@) AMww (@) ¥Ry

55.

(1) Breakdown of machinery

Which item does not cause any business risk ?

(2) Efficient management

(3) Riot

(4) Changing government policy

Rl § @ aF-a1 [ A fed &1 FRT Tl e ?
(1) A8 @ E-H (2) HIW FEY

(3) 0 (1) T iy F ofads

PG_EE—June-2023[M.Com(Hons)Five Year Integrated] Code-C
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|

56, | In business. why 18 1t essential to make a profit ?
| (1) Tt provides a return to investors
‘ (2) It provides funds for future extension
(3) It increases the reputation of a company
(4)  All the above
TEE 2, @9 G F omgvas w5 L 2
(1) T et 1 ufes w2 w0 3
(2) T& 91 fam Bq #1952 Far @
(3) T F=1 F1 ofwn d gf Fv

| (4) TG m

57. | Tohave an effective delegation is important to have a responsibility along

‘ [ with ... .
|
I (1) Authority (Z) Manpower
| (3) Incentives 1) Promotion
AR & gl €9 & fan ge wemyed o SRS Ly A
(1) sfeere (2) uriafyg |
l
(3) WeEA (4) vy |
|

PG-EE-June-2023|M. (‘om(li on s) Five Year Int (:;,.a t:l] ‘é@ C
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Accounting provides data or information on :

(1) Income and cost for the managers

(2) Financial conditions of the institutions

(3) Company’s tax liability for a particular year
(4) All the above

St T Tl S I A D

(1) yaed & e o qar arm &

2) dwrett @ foxfa Rafq &

@) frdl ad fdw & foq e @ B-aEd

(4) wugh ad

i

59.

The assets that can be easily converted into cash within a short period,

. 1year or less are known as

(1) Current assets (@) Tixed assets

(3) Intangible assets 4) Investments

g R orearafy & oM @ R § awan o e @ o 1ad @ 9wa W A,
3 Iq Fal 8

(1) o @arE ©2) @R g

3) o Rl 4) faw

PG-EE-June-2023 [M.Com(Hons)Five Year Integrated] Code-C

1(25)



Set-y

—3
Code-(
Question Questions
No. ,
60. | Which of the following best describes the Principles of Management ? |
(1) They help managers to take decisions while performing manageria|
functions
(2) They denote a cause and effect relationship
(3) They give guidelines for further action in management functions
(4) All of the above
MeIfefad # 8 BF-a7 gow & R @ wdiw aren a3 2 7
(1) 3 gl 31 v &) a7 wng Rty @ § e e 2
(2) 3 T SR 90T W Ao gy
(3) 3w Tl X o F A 3 R Ry g w3
(4) TUGH T
61.

Which statement shows the flow of cash and cash equivalents during the
financial period ?

(1) Statement of changes in equity
(2) Cash flow statement
(3) Balance sheet

(4) Income statement

(1) @91 4 oftged=i &1 foayop (2) 5 v Ryggor
(3) onfig frzer (4) M Rgoy

‘J .
PG-EE-June-2023[M.Com(Hons)Five YeaW
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62.

Investment can be defined as:

(1) Person’s dedication to purchasing a house or flat

(2) Use of capital on assets to receive returns

(3) Usage of money on a production process of products and services
(4) Net additions made to the nation’s capital stocks

Frsr 1 20 FR o fR o e ®

(1) =afh & 76F a1 We @i & g qaie

2) uirwd ot &3 & fr @il o g & owa

(3) el dqur et F e wRRA W O F ST

(4) g & Gl WF F gE ARE F

63.

The concept of Financial Management is :

(1) Profit maximization

(2) All features of obtaining and using financial resources for company
operations

(3) Organization of funds

(4) Effective Management of every company

Ry waeer @ STETCT § ¢ o

(1) @9 STREHIFT

@) e R & R R AR A T o e A e R

(3) i i FI |

(4) A FA B gl Jeee

PG-EE-June-2023 [M.Com(Hons)Five Year Integrated] Code-C
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(1) Machines (2) Bonds |
(3) Stocks (4) Both (2) and (3)
Frefifeed wet & @ @m-d i waf @ ?

(1) =g @) qvgy

3) wi (4) (2) T (3) W

Code-C
Q“g:‘;_i‘“‘ Questions |
64. | What is the primary goal of financial management ?
(1) To minimise the risk
(2) Tomaximise the owner's wealth
(3) To maximise the return
(4) To raise profit
| [T Se= &1 gRiE @eg @ g 7
(1) g FFa H (2) @ @ gy el F
| 3) U™ F AREAT F (4) ¥ g
65. | GST is a consumption of goods and service tax based on :
(1) Development (2) Dividend |
(3) Duration (4) Desfination
SCHE qegel qur darel & UM W BT F W .. W ARG ?
(1) fo=zm (2) amrer
(3) orafa (4) T
66. | From the below-mentioned items which are financial assets ?

PG-EE-June-2023[M.Com(Hons)Five Year Inte
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S

67. | Which of the following is true ?

(1) The initial public issues are made in primary market whereas all

subsequent issues are made in the secondary markets

(2) Primary markets are legal whereas secondary markets are not.

3) Primary markets deal in shares whereas secondary markets are meant
for debentures.

(4) Corporates raise resources directly from the investors through the
primary market, whereas in the secondary markets, investors buy

and sell securities from one another.

Frfofad & @ PF-81 @ ¢ 7

(1) s T R @) e AT s @ e 3 Fri e s
¥ a2

(2) i aroT] 39 € oafe fEdEs g e

(3) oot AT & siglt @1 -2 8 @ e fdiied e werEl & R Ag g

(4) Y el @Y PRI A de GERE Rl § ) maf 9 @ e 8
3 ¥ wafs fedd a7 FRes wE-gEt @ sl @ded ol aud g
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68. | Which of the following is TRUE about Primary Markets ?

(1) Primary market is the place where public can buy and sell securities
from one another.

(2) Primary markets refer to the mobilization of funds from the public

by corporates through the issue of shares / debentures.

(3) Primary markets are places where only short-term instruments are

traded.
(4)  Primary markets are markets where commodities are sold.
frifiad & @ ae-a1 mafs goml & vy § ag § 2
(1) HEMWE R 78 W@ 8 Sl T -ga A i aied ot a3
2) mmwaﬁﬁ/W%W%WmaWWeﬁmmﬁm
F oM &l defid g7 §
(3) mw&{%wagwﬁeﬁ%aﬁ%aaawzﬁqswﬁmwmwg'
(4) et a3 Ao ¥ ol a3 o ¥

69. | The holders of which instrument are members of the company and have

voting rights ?
(1) Commercial paper (2) Treasury bill
(3) Debenture (1) Equity

(3) T (4) Gvar ajqr

PG-EE-June-2023[M.Com(Hons)Five Year IW
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------------ 1s the process by which physical certificates of an investor are

converted to an equivalent number of securities in electronic form.

les
(1) Materialisation (2) Rematerialisation
lic / (3) Conversion (4) Dematerializations i
......... gg ufkar 8 Rras g FRus & difde Tl # a9 e 7 nﬁqﬂf«i?!
o  qggie qiF @ gea o ¢ | |
(1) HERIarEI (2) TAefgaEsT |
(3) FGUIA (@) didiREaEe |

|

71. | Who suggested product, pricing, place, promotion all these in a company |

represents “Market Mix” ?

(1) Neil Borden ~ (2) Neilsen
(3) Philip Kotler (4) Stephen Morse
T g feme Rar [ dewe, g, @, 9AeE 3 @l FEEr § oA e #
afafiae #3d & 7
(1) i arEq (2) Hrea
(3) ffar e ) W i
79. | This P is not a part of the 7Ps of marketing mix ?
(1) Promotion (2) Price
(3) People (4) Purpose
a2 P fapr fagm & 7P @ fewn T e
(1) g (2) wd
(3) diga (4) WU

G-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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73. | Marketing of product and service in which the offer itself is not intended

to make any monetary profit is called :

! (1) Profit marketing
(2)  Virtual marketing

| (3) Digital marketing

j (4)  Non-profit marketing

| ~ — i} B

| A T I H Ao o e R s @ @ ogded @ 6 A, 97 s
E
<

| ‘

‘ (1) <4 fageE (2) ggord fagor

| (3) ffrea fwm (4) R e

T

| 74. | USP is defined as :

|

(1) Unique selling price

(2) Unique sales preposition

(3) Unique selling proposition

(4) Unique strategy promotion

g ua q F1 qfvamr 2

(2) gl A fidrsfie
) giiE geshi anigr

(1) g% @fer arzd
(3) g afe grdsfies

PG-EE-June-2023[M.Com(Hons)Five Year Integrated) Code-C
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The process of setting a low initial price for attracting a large number of

buyers quickly to cover a large market share is known as :
(1)  Going-rate pricing

(2) Market penetration pricing

(3) Value based pricing

(4) Skimming pricing

%maﬁaﬁa@m@aﬁfsﬁaamﬁﬁm%mwaéw%@ﬁﬁmﬁ%
R oe & B ged @R 1 ARR # e €

(1) e & W g FaRer (2) 99K 999 73
(3) Tw ouRd Fwd e (4) REHT wEE

L

In which business, the support service activities are categorized ?
(1) Commercial industries

(2) Primary industries

(3) Secondary industries

(4) Tertiary industries

e e, @ A TR i @ o g

(1) @ (2) saf SE

(3) fadmad T (4) glgs IEm

PG-EE-J uné;2023[M.Com(Hons)Five Year Integrated] Code-C
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77.

In business, why is it essential to make a proﬁt‘?
(1) It provides a return to investors

(2) It provides funds for future extension

(3) It increases the reputation of a company

(4) All of the above |

AT, T B AT L 7

(1) & (Awl & ofe we Fear 2

(2) T Wl OWR & Y 29 =6 e

3) T F # ghrer ¥ gy gwar @

(4) g @t

78.

What is Centralisation ?

(1) Retention of decisibn-making authority

(2) Dispersal of decision-making authority

(3) Creating division as a profit centre

(4) Opening the new centre of branches

PR R ¥ 7 |

() Frfet sfer =m @ (9 Fefa s a1 g
@) W& A B I T (4) MERH & T 5 Gy

PG—‘EE—June-2023[M.‘Com(Hons)Five Year Integrated] Code-C
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79. | Grouping of activities on the basis product lines is part of :
(1) Delegated organization

(2) Divisional organization

(3) Functional organization

(4) Autonomous organization

IR G B SR TR F AT o F T A
(1) Y| d§Ted (2) GAFTE GTeH
(3) FAHAF TS C (4) @I e

80. | Preliminary Contracts are :

(1) bindingon the Company

(2) binding on the Company, if ratiﬁed‘after incorporation
(3) binding on the Company, after incorporation

(4) not binding on the Company

SRR e 8 €

(1) Ff W A

@) FH W AHH, AR IH T B A YRewr Rear @
(3) FA T GAMT & YA ST

4) FEA W qeEEd T

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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Discounts received are -
(1) Deducted by us when we pay our accounts

(2)  Deducted when we receive cash

(3)  Given by us when we sell goods on credit

(4) None of these

T gel # o

(1) & 92 € 99 &9 30 &1 e aa E

(2) 9T € 99 &9 T arq awq

(3) mav%ﬁw%mwm@eﬁﬁwwéﬁ%
(4) T A FE &

82.

Sales invoices are first entered in -
(1) The Cash Book

(2) The Purchases Journal

(3) The Sales Journal

(4) The Sales Account

faa’nar@m‘faﬁqﬁ:aﬁfmmw%:

(1) TFE ywas i (2) W Srie i
(3) fawy wiq # 1) faswg @y ¥

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Coqea—————
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3. | 1f we take goods for own use we should :

N

(1) Debit Drawings Account, Credit Purchases Account

(2) Debit Drawings Account, Credit Stock Account

(3) Debit Sales Account, Credit Stock Account

(4) Debit Purchases Account, Credit Drawings Account

w o o g B o @ B A B R AR R, A @ Fe A
(1) e @ ¥ 3faE, %9 @ § #fse

2) e @e § 2, ®iE @ 7w

3) fmg @@ § 2, ®iF ad | &

(4) 79 @n § e, e an § e

84. | If a trial balance totals do not agree, the difference must be entered in :
(1) The Profit and Loss Account

(2) A Nominal Account

(3) The Capital Account

(4) A Suspense Account

afr Az & 4 A e TR e Al sl o1 vlafee @l e

1) @a-af @d i (2) SAFHE &

@) T i (1) Fad wid 1

L I I
PG-EE-J une-2023[M.Com(Hons)Five Year Integrated] Code-C
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85.

Which of the following is a false statement ?
(1) The scope of commerce is narrower than business.
(2) Commerce includes trade and auxiliaries to trade.

(3) Foreign trade is purchase and sale by the traders of the same countuy,

(4) Traders serve as a link between producers and consumers.

fr=feiad & @ S9-a1 $99 g © 2

(1) el & i A @ e 2 |
(2) aPRT F AR q ANR GEEF AR O ¥ | |
(3) ﬁ%sﬁwwé?%éf%amﬁzﬁmmwmwm% |
4) wmﬁ,wﬂwaﬁamwmﬁ%ﬁwwammmﬁ

86. | Which of the following is not a management function ? |
(1) Planning (2) Staffing
(3) Cooperating (4) Controlling
Rriffa & @ @F-a1 ga & a8 Y 7
| @) e & 2) gRel Fe
(3) @EEN AT (4) FE=r ey
PG-EE-June-2023 [M.com(Hons)Fi\(zgss){ear InteW-’i
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87. | Policy formulation comes under which role ?
(1) Top-level managers (2) Middle-level managers
(3) Operational management (4) All of the above
Aifq Fafer g e & ofria o § 7
(1) T-ER J&Hiy (2) G- UG4Hd
(3) IRAATHS Yau (4) Iugeh |t
88. | Management is defined as :
(1) AnArt (2) A science
(3) Both art and science (4) None of the above
S F O g9 w9 SRS
(1) | 2) fasm
(3) Fam qn fasm AT (4) IQIH X A g T
89. | Which of the below-mentioned item does not follow the scalar chain ?
(1) Functional structure (2) Divisional structure
(3) Formal organization (4) Informal organization
Y R M g F A AF-9 AUE G F AT el HIr ?
(1) Fmafes @& (2) WUF HOE
3) ol @ (4) oTiTERE HTed
—
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90. | Which of the element is not a part of the communication process ?
(1) Decoding (2) Communication
(3)  Channel (4) Receiver
PIA-T TTE FAWT gy a few D 2
(1) fepifEn (2) TEE
(3) I (4) uT<at
T 91. | Long term assets having no physical existence but, possessing a value are
| called :
(1) Intangible assets (2) Fixed assets
(3) Current assets (4) Investments
3. | _
(1) g Tt 2) @ gkt
(3) A Tt (4) Ry
92.

Partners’ Current Account has

(1) Credit Balance

------------

(2) Debit Balance or Credit Balance

(3) Neither Debit Balance noy Credit Balance
(4) Debit Balance

T % g W A A §

(1) #fee 9y (2)%%@1%%51&
(3) {9 2fae M 7 & BfeT Ay 4) W Jy

PG-EE-June-2023 [M.Com(Hons)Five Yeay Int
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93. | In the absence of a partnership deed, partners are entitled to receive

------------

(1) Interest on loan (2) Salary

(3) Commission (4) Interest on capital
AR faoE & 9 &, RN s I & & BHAK I & |
(1) SYR W& (2) &

(3) FHIeA (4) o W ==

94.

(3) ZaEd @ T ol F AEE 3 §

Ostensible partners are those who .............

(1) Contri‘bute very little capital but get equal profit.

(2) Do not contribute any capital and without havinlg any interest in the
business, lend their name to the business.

(3) Contribute maximum capital of the business.

(4) Do not contribute any capitéi but get some share of profit for lending
their name to the business.

Regedl EER ar 8 g ol ¢

(1) agd D Goft T § IR WA A M B &

2) FE 9@ Gt T T ¢ iR ey ¥ B Reaa W@ R ot AW awy @

3 8

(4) P PR T T GG T TH ZEEE H AT B T W A GO R o w8
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95. | When is the Partnership Act enforced ?

(1) Where there 1s a partnership deed, but there are differences of op1nion

between the partners.
(2) When capital contribution by the partners varies.

(3) When the partner’s salary and interest on capital are not incorporated
in the partnership deed.

(4) When there is no partnership deed.

R SfET &= arg A § 7

(1) 9 g g & ¥ Wy aeerd $ i 59 & B

(2) 9@ GRER @R YSl H ARE e

(8) 19 WHRRI &1 a9 T ol W <A1 AEr forg & afafg = fhar mr )
4) w9 F qEEN Aag T & |

96. | When a Goodwill Account is raised, the credit is given to the old partner’s-
capital account in ............
(1) Old profit sharing ratio.
(2) Gaining ratio.
(8) New profit sharing ratio.
(4) None of the options are correct.
9 UF S @rar A Al g A i GO eeR $ Gl ' ¥ Rar sy
gl |
(1) U1 @9 faaeer orud & (2) Wf orgun |
(3). T @ fawor orgue & (4) P N fee Wl R
PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C ————|
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97.

What do you mean by super profit ?

(1) Total profit by the number of years.
(2) Average profit plus normal profit.
(38) Average profit minus normal profit.
(4) None of the options are correct.
SRR @ SATYH AT aﬁm g7

(1) FI @ S qu & &1 @ 9T

(2) ofr|a @™ H qErg v SIgT

) aﬂﬂﬁ,wﬁﬁmmwm

@) FE ft ey @l TE B

98.

Thé decision in Garner versus Murray was given in ............
(1) 1905 (2). 1933

(3) 1804 (4) 1904

R g A B e § favia fear

1) 1905% (2) 19331

(3) 1804 % (1) 19047

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-C
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99. | Tollowing are essential elements of a partnership firm except :

(2) There is an agreement between all partners
(3) Equal share of profits and losses |

(4) Partnership agreement is for some business
T & T 7 Pt 3 @ g R

(1) 7 8 7 & afn |

(2) o W B " w orgEy ¥

(3) wrv-gial & woW wrfErd

(4) TRER TIEY Rl @awE ) 56 & fig ¥

100.

Which of the following statement is true ?
(1) A minor cannot be admitted as a partner

(2) A minor can be admitted as a partner, only into the benefits of the
partnership '

(83) A minor can be admitted as a partner but his rights and liabilities are
same of adult partner

(4) None of the above
frrfoafea & @ @9-a1 F99. 99 & ?
(1) @mm%mﬁnﬁwqﬁmmm%'

2) mﬁm%wﬁmm¢mﬁmﬁmmm$
(3) mﬁm%mﬁmmmm%

(4) ow A & N @

PG-EE-June-2023[M.Com(Hons)Five Year Integraroais __,J
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1.

Which statement shows the flow of cash and cash equivalents during the
financial period ?

(1) Statement of changes in equity

(2) Cash flow statement

(3) Balance sheet

(4) Income statement

F-11 fqaver g ad & aRm Tedt qur ) qNg e guf 8 7
(1) @9ar § aRgaw & faawr Q) 7@ vare faawer

(3) ol faeer (4) o foaor

Investment can be defined as :

(1) Person’s dedication to purchasing a house or flat

(2) Use of capital on assets to receive returns

(3) Usage of money on a production process of products and services
(4) Net additions made to the nation’s capital stocks

fasr &1 g s R fam o aear @

(1) afth & 76 a1 ®ie gie & gy godor

(2) et o B b fe @Rl w Gl &

(3) el dur adiel @ I Ul Ot OF & Igan

) T & ol @ A g WRE FE

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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The concept of Financial Management is :

(1) Profit maximization

(2)

All features of obtaining and using fin

ancial resources for company
operationg

(3)  Organization of funqs
() Effective Management of every company

R o o ey 3

(1) T s

@) Mm%mwwﬂﬁﬁwmwmmﬁmhﬂwﬁ
3) B P gy

(4) mmﬁcﬂwnﬁwaq

What is the primary goal of financia] management ?

(1) Tominimise the risk

(2) Tomaximise the owner’s wealth

(3) To maximise the return
(4) To raise profit
faefta ey @1 arfsrs @ a7 3 2

(1) sifEw Aaw F @) B w9 s gy
(3) U™ F AHAT FA (4) @ o

PG-EE-June-2023 [M.Com(HonS)Fiv(e )Year IntW
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5. | GST is a consumption of goods and service tax based on :
(1) Development
(2) Dividend
(3) Duration
(4) Destination
Sieadl aegell U Aarel & YT W R B A L. X 3Meia ® -
(1) faer (2) T
(3) omfy (4) A

6. From the below-mentioned items which are financial assets ?
(1) Machines

(2) Bonds

(3) Stocks

(4) Both (2) and (3)

frtifeeet wal & @ - R gwfa @ 2
(1) #gi (2) dvgy

(3) ®fE (4) (2) T (3)

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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-1

Which of the following is true ?

L arimar ket whereas
(1) The initial public issues are made in primary mar al]

: : . rkets
subsequent issues are made in the secondary ma

' : 'kets are not.
Primary markets are legal whereas secondary mar

@)

Primary markets dealin shares whereas secondary markets are meant

for debentures.

4)

Corporates raise resources directly from the investors through the

primary market, whereas in the secondary markets, investors buy

and sell securities from one another.

f=fefed & @ #9-m g 2 2

(1) mmﬁmﬁmﬁmwﬁmw@a%mmmr
§ AR o §

@) wuE a3y ¥ e e a1

(3) mﬁ%wﬁmﬁwﬁéﬂm%mmww%mm%

(4) WM@QN&W@W%WW%@WW%WWQ
mg,mmmﬁﬁmm@ammmmgi

PG-EE-June-2023[M.Com(Hons)Five Year Inte
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8.

Which of the following is TRUE about Primary Markets ?

(1) Primary market is the place where public can buy and sell securities
from one another.

(2) Primary markets refer to the mobilization of funds from the publié
by corporates through the issue of shares / debentures.

(3) Primary markets are places where only short-term instruments are
traded.

(4) Primary markets are markets where commodities are sold.

frfafag & @ Hi-a1 WA ao @ g § a9 ® 7

(1) waftes a9 98 @H  SEl Sl UE-gEt @ sfsfdl aded i dut B

(2) e ST Siel RO & RriE @ werd @ Y denell g S § Pt
F e F T B 2

(3) T AT 98 T A ¥ ol dac STeusbeie IUHRON H1 A RRar S & |

(4) wafte aerR 3 ae ¥ Sfel awgd e S g

The holders of which instrument are members of the company and have

voting rights ?

(1) Commercial paper (2) Treasury bill

(3) Debenture (4) Equity
aﬁ?—aﬁﬁﬁum%mmﬁ%wsﬁ%amméﬁmmr@ﬁ%?
(1) @i e (2) gorll fa

(3) =T WA (4) qHar 3ir

PG_EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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10, | o is the process by which physical cer tificates of an Imvestor ay
converted to an equivalent number of securities in electronic form.
(1) Materialisation 2) Rematerialisation
(3) Conversion (4) Demater -alizations
......... @m%mmﬁﬁ%%eﬂmmﬁmﬂmﬁmﬁmﬁ
IS TP @ ae o 2| |
(1) FfEcmseM IR GEERIEEEL
(3) FHaeA , (4) AR
11. | Long term assets having no physical existence but, possessing a value a?e1
called :
(1) Intangible assets (2) Fixed assets
(3) Current assets (4) Investments
g |
(1) o geferal (2) @l g
(3) 1 @Al ) faqr
12. | Partners’ Current Account has ............
(1) Credit Balénce
(2) Debit Balance or Credit Balance
(3) Neither Debit Balance nor Credit Balance
(4) Debit Balance
AR & g @R A A
(1) #feeT a9 (2) éﬁfsz’rqaqwm?ﬁq
@) 7 e d9 A E AT I (1) M Ay

PG-EE-June-2023[M.Com(Hons)Five Year Integratéd] Code-D
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13.

In the absence of a partnership deed, partners are entitled to receive

............

(1) Interest on loan 2) Salary

(3) Commission (4) Interest on capital
TR fooE & 99 ¥ GERR . M 1 % BHK 81 & |
(1) SR W I (2) I

(3) i | @) G | &

14.

Ostensible partners are those who

(1) Contribute very little capital but get equal profit.

(2) Do not contribute any capital and without having any interest in the

business, lend their name to the business.
(3) Contribute maximum capital of the business.

(4) Do not contribute any capital but get some share of profit for lending

their name to the business.

femradl am@rEr &t 8a 2 S

(1) agd &€l gofl & R AR @ AT HRa @

(2) @15 1 gofi T @ § ol aawE § ¢ Reewd W@ KA o AW 2 @)
2 8

(3) G %l sHftrw ofl @ GEH A 8

(4) @ BN TE @R oG A T AT B A F T A ¥ gm Rew o< w3

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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15.

When is the Partnership Act enforced ?

(1) Where thereisa partnership deed, but there are differences of opinion
between the partners.

(2) When capital contribution by the partners varies.

(3) When the partner’s salary and interest on capital are not incorporated
in the partnership deed,

(4) When there is no partnership deed.

R i F9 qm a2 2

(V) 7@ Tl v & 2w wde @ A w P &

(2) @ HRER EW G 91 A e g

3) mwlmmamwﬁwwwmﬁmﬁmwé
(4 v FE TEer fow T 8

16.

When a Goodwill Account 1s raised, the credit is given to the old partner’s
capital account in

(1) Old profit sharing ratio.
(2) Gaining ratio.
(3) New profit sharing ratio.

(4) None of the options are correct.

m@mmmm%ammwmﬁﬁ@w
gl v

(1) O & fw o & () e ST 3
(3) T @M faawor e A (@ﬁ%ﬁﬁmwé‘mzﬁ%

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D -
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17.

What do you mean by super profit ?

(1) Total profit by the number of years.
(2) Average profit plus normal profit.
(3) Average profit minus normal profit.
(4) None of the options are correct.
st & o T ST B 7

(1) T @ & a9 S qE q A0

(2) ofrad @™ § qEN A SISl

3) clraa @ § q 9 am T

4) FE < fFew @ T @

18.

The decision in Garner versus Murray was given in ............
(1) 1905 (2) 1933

(3) 1804 (4) 1904

T g R $ d9 W o fear e

(1) 1905% (2) 1933%

(3) 18044 (4) 19047

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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19. | Following are essential elements of a partnership firm except :

(1) At least two persons

(2) There is an agreement between all partners
(3)  Equal share of profits and losses

(4)  Partnership agreement is for some business
T 3 wgE qm PrefaT @ sad R ¥

(1) #9 9 F9 @ afe

(2) @ TEER & 9 U SR R}

(3) w9-gfvgl # T SR

(@) ERR S R @ @ FA B R - |

20. | Which of the following statement is true ?
(1) A minor cannot be admitted as a partner

(2) A minor can be admitted as a partner, only into the benefits of the
partnership

(3) A minor can be admitted as a partner but his rights and liabilities are
same of adult partner

(4) None of the above

fr=fafgd § @ FH-91 99 99 & ?

(1) UF 3EuEF dRREN & 9 § @R 981 6 o @@ 2

(2) EIEF I WAL D B A FIA G & AH T @R BHar o gy 3
(3) -mﬁu@m%mﬁﬁmmmm%mﬁmmwa&m
(4) STE H A IR T

PG-EE—June—2023 [M.Com(Hons)Fi\(ze X)?ear Integrated] Code-D
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21.

——

Which of the following is not applicable in Life Insurance contract ?
(1) Conditional contract (2) Unilateral contract

(3) Indemnity contract (4) None of the above

et & & -8 S 4w aqee § an 7@ g ?

(1) qd a4 (2) THH AT

(3) &l e (4) I 7§ FE T

o
.l\:a

e-commerce does not include :

(1) Abusiness’s interactions with its suppliers

(2) Abusiness’s interactions with its customers

(3) Interactions among the various departments within the business

(4) Interactions among the geographically dispersed units of the business
i-Fmd | gfefag 78 2

(1) @MR & d A & arad

(2) @M & YT TEH G AE

(3) @@y % a7 fafa= fawml & 749 amEm

(4) ZgaE F drfas w9 4 f9Fh @FRd & 95 9aed

Social responsibility is :

(1) Same as legal responsibility

(2) Broader than legal responsibility

(3) Narrower than legal responsibility

(4) None of them

(1) fafes Seeerfaa &1 wifd (2) fafos uvafae @ e

(3) fafis oaveifaa @ dgfad (4) &9 Q@ &3 T

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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24,

. : ety ?
Which of the following is capable of doing maximum good to society *

(1) Business success .

(2) Laws and regulations

(3) Ethics

(4)  Professional management
ﬁwﬁr@aﬁéﬁq—ﬁw%maﬁmqmmﬁaw%?
(1) JIaidE dhelan (2) @ e fafraw

(3) Sferea @ W

Which item does not cause any business risk ?

(1) Breakdown of machinery

(2) Efficient management

(3) Riot

(4) Changing government policy
ﬁwﬁf@aﬁ@ﬁm—mﬁﬁmmﬁmmmwﬁm?
(1) "8 &1 ge-ge (2) FI gery

(3) a1 (4) aErd Ay & wiady

PG-EE-June-2023[M.Com(Hons)Five Year Integrateq] Coqe o ————
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96. | Inbusiness, why is it essential to make a profit ?
(1) It provides a return to investors

2) It provides funds for future extension

(3) It increases the reputation of a company

(4) Allthe above

s &, @ R F oTavEE R ?

(1) & FRv@ ® ofwed T & e

2) ¥ 9 R g Y R FA 8

@) T F9 e § gRe wwan @

(4) I9g @l

97. | To have an effective delegation is important to have a responsibility along

with ........... .
(1) Authority (2) Manpower
(3) Incentives (4) Promotion

JEE & S9d 8R # fe g weEyel @ f SRatdd L d A A
(1) e (2) AaRR
(3) dicaTEH (4) W=

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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28.

Accounting provides data or information on :
(1) Income and cost for the managers
(2) Financial conditions of the institutions

(3) Company’s tax liability for a particular year

(4) All the above

TEIF GEAT P AT Iqee e 3
1) Wﬂaﬁ%ﬁmmwm%

(2) wwrst & fa<ig Refy &

3) et ad fadw & Q. #0 &1 Fv-atm
(4) 39w T

29.

The assets that can be easily converted into cash within a short period,

1.e., 1 year or less are known as :

(1) Current assets (2) Tixed assets

(3) Intangible assets (4) Investments

Wwwﬁmamﬁmmm%amqlﬁmmmﬁ,
& A P

1) g w (2) wmEl wefE

@) et w (4) frag

PG-EE-June-2023[M.Com(Hons)Five Year Inteng~~
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30.

Which of the following best describes the Principles of Management ?

(1) They help managers to take decisions while performing managerial
functions

(2) They denote a cause and effect relationship

(3) They give guidelines for further action in management functions

(4) All of the above

ol & @ S9-a1 Yo & R @) adam e &3 2 7
1) i:wuﬁaﬁwmﬁummwiﬁqéﬁﬁmm%
(2) 3 FOT AR U9 T F AT g7y B

(3) 3 yuHE FE F oW P PR B e RentiEy woE a5
(4) TG af

31.

L

Discounts received are :

(1) Deducted by us when we pay our accounts

(2) Deducted when we receive cash

(3) Given by us when we sell goods on credit

(4) None of these

o gl &

(1) &4 gerd § 519 &9 3gid & I &1 g

(2) "erd ¥ 1@ B9 TaE O N 8

(3) &R & far o B o e awgsh @ un W e ¥
4) T q &g T

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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32. | Sales invoices are first entered in :

(1) The Cash Book

(2) The Purchases Journal

) The Sales Journal

(4) The Sales Account

9 S H R o R o B
1) W (2) %4 o B
®) R o @) fora @

. 33. | If we take goods for own use we should :

(1) Debit Drawings Account, Credit Purchases Account
(2) Debit Drawings Account, Credit Stock Account

(3) Debit Sales Account, Credit Stock Account

(4) Debit Purchases Account, Credit Drawings Account
m%mm@aﬁﬁamﬁm%m%méﬁ%msﬁmm%q:
(1) &1 @d § e, 59 @n § afe

(2) o @ A 2Afae, @t gn § AR
(3) fapa @ # 2fae, Wi @m i ffee
(4) %4 @rd 7 fqe, smewr gy § g

| l

PG-EE-June-2023 [M.Com(Hons)Fi\(ze ?ear Inlfm])
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34. | If a trial balance totals do not agree, the difference must be entered in :
(1) The Profit and Loss Account

(2) A Nominal Account

(3) The Capital Account

(4) A Suspense Account v |

R dwue B A F AR T AW A oeR @ e S A

(1) @8 @ | 2) TN 3 @y

(3) Uoft @ A (4) I @ A

35. | Which of the following is a false statement ?
(1) The scope of commerce is narrower than business.
(2) Commerce includes trade and auxiliaries to trade.

(3) Foreign trade is purchase and sale by the traders of the same country.

(4) Traders serve as a link between producers and consumers,

Frfifed & & f-ar s Tom & 7

(1) A a1 81 g & @ @ et ¥

@) A & @ qor @R wee aiakE o ¥

3) ﬁ%sﬁwma&ar%mmﬁﬁmmwwwﬁm%
) wﬁﬁ,@ﬁwﬁwm%quwmmﬁ |

L]
PG-EE-June-2023 [M.Com(Hons)Five Year.I.ntegrated] Code-D
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36. | Which of the following is not a management function ? \l
(1) Planning (2) Staffing
() Cooperating (4) Controlling
ﬁ?ﬁr@aﬁéﬁw-mwrammﬁ%?
(1) Faew s (2) Fgfwat s
3) T gy (4) = e
37. Policy formulation comes under which role ?
(1) Top-leve] managers (2) Middle-leve] managers
(3) Operational Mmanagement (4) Al] of the above
e Rt Bt ofr & oty om 3 2 |
D) =R oy 2) TR ey
@) T e 4) SUGE iy
38. | Management 1s defined as :

(1) AnArt  (2) A science

(3) Both art and science (4) None of the above

T R g w A o 3

(1) (2) fomm
(3) & T REN G (@Wﬁéﬁgqﬁ

PG-EE-June-2023[M.Com(Hons)F izfg‘)fear Integrated] Cogey
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39. | Which of the below-mentioned item does not follow the scalar chain ?

(1) Functional structure (2) Divisional structure

(3) Formal organization (4) Informal organization

2 R W A A W W e a1 a6 ?

| (1) FEEE T (2) @M T
s (3) MgEie qmed (4) TS e
40. | Which of the element is not a part of the communication process ?
(1) Decoding | (2) Communication
(3) Channel E (4) Receiver
FH-91 9% T Uik 1 feem T R 2
I (1) femfEn B (2) T
(3) e (4) STebat
41.

L

A proposed name of Company is considered undesirable if :

(1) Itisidentical with the name of an existing company

(2) It resembles closely with the name of an existing company
(3) Itis an emblem of Government of India, United Nations etc.
(4) In case of any of the above

FHT 1 TEfad AW S HE S 8 AR

(1) af 7z gag fd faeme & Sar &

@) qR g8 fdl faame #dl & Tm @ Perr-gedr

3) % 98 WA R, qYad W e & ueliw e &

(4) oo & @ @ o &

PG-EE-June-2023[M.Com(Hons)Five Year Integratéd] Code-D
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0.

; : o : vernment
The company needs to obtain prior permission from central gove |

when it changes the address of its registered office from :
(1) one city to another city
(2) with in the same city

(3) one state to another

(4) one country to another country

Mﬁ%m@wwﬁ%ﬁﬁmswa?ﬁ%m%emwm

.......... uiafda et 8
(1) & M ? g o & (2) S W F oty
@) ™A 3 (4) T30 3 g 2y 4§

—

43. nd duties of directors are

Powers, rights, rémuneration, qualification a

discussed clearly in :
(1) Memorandum of Association
(2) Articles of Association

(3) Prospectus

(4) None of the above
HereE! @1 S, it WA, A g

mmﬁwmﬁhﬁwaﬁﬁzﬁ

g
(1) g g\ Frgm (2) e o frgy
(3) wfearer ) 39 % § 9

PG-EE-June-2023[M.Com(Hons)Five Year Integrate T CodaTs . B
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"1 W (- share capital has priority both in repayment of dividend as well as
| capital
(1) Equity (2) Non-preference
(3) Preference

4) All of the above

......... AN T A e o qen goft ameh A ¥ el o A ¥
(1) @ A

(2) R-gaieesR
(3) gaifRrER @) I Tl
45. | .ol cannot give invitation to the public to subscribe for any shares in or
debentures of the company. '
(1) Subsidiary company (2) Statutory company
(3) Private company (4) Registered company
......... T F RO S B Sl B @Ry @ e a3 g
(1) WeEs F (2) AeFeF
(3) Pt Fh (4) o F
46. | The sharesofa ...........

company can be freely transferable.

(1) Private ltd. (2) Publicltd.

(3) Partnership (4) All of the above

W%asﬁﬁgﬁwﬁmmmm%|

1) e ffiree (2) s fafes
(3) WERM (4) I wely
PG-EE-J une-2023[M.Com(Hons)Five Year Inte

\ |
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e f Association cannot be
" 47. | Which of the following clause of Memorandum 0

altered ?

(1) Name (2) Object

(3) Situation (4) Liability

Fefefed & & ande dim Fraw &1 $i9-ar a9 9een T@ o qebdr !
(1) ™ (2) IRW

@) @M (4) =g

48.

(2) Registrar of Companies

.(3) Government of India

Application for approval of name of a company is to be made to :

(1) SEBI

(4) Government of the State in which company is to be registered

T B T F AT o F a1 A A 3
(1) & @) F=i P
(3) A W

W) T 3w o ae i

49,

It is characteristics of

where in one roof goods are sold by making
different department.

(1) Multiple shops
(3) Wholesale trade

2) Departmenta] stores

(4) None of thege

& o ﬁﬁm%aﬁmﬁ@w%%ﬁm&mmwmh
(1) i gam (2) feurddmg wig |

@) &% 2w () 7 ¢ 75

PG-EE-June-2023[M.Com(Hons)Five YearIn
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50.

Number of goods sold in wholesale trade is :

(1) More (2) One

(3) Less (4) None of these
dif FOR § 9 I it AT B FEr ek 8

1) e 2)

) 4) & q PR T

51.

Securities premium can not be applied ..............

(1) For paying dividends to members

(2) For issuing bonus shares to members

(3) For writing off preliminéry expenses of the company

(4) For writing off discount on issue of debentures

gl & difmEm ... & fow ggnT =gt fRar S ogean|

| (1) @ # A gEE & e

(2) weE F 9w g B R B0 & g
(3) FEI & URRNSF F & FURIEd HH & fw
(4) =OgE & A W) A W e &l e # & g

L

What does reserve capital mean ?

(1) A part of subscribed uncalled capital
(2) Reserve profit

(3) A part of capital reserve

(4) A partof capital redemption reserve
s goft @ @ o & 7

(1) i orated ol 0 AT (2) Hied

(3) ol @ & TH A (4) YOIt MO Hel H1 TF A

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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ted grou
53. | Anissue of shares that is not a public issue bL_lt offered to a selec sroup |
of persons is called ............ |
(1) Public offer | |

(2) Private placement of shares

(3) Initial public offer
(4) None of the above
Sl 1 Fr t et Fef i @ g ahndl & R o e @ ) e
fepar a1 2, weqmar B - '

(1) wrEe~s gem (2) el 1 felt wiaie

() T s siftet (4) SUTH H q B T

54. | When shares are forfeited, the share capital account is debited with ...

(1) Nominal value of shares

(2) Market value of shares

(3) Called-up value of shares

(4) Paid-up value of shares |
aaafsraammaﬁ%a?mw’vﬁ@ﬁﬁ%ﬁzmm%

(1) &9 % sifed g & am
(2) &l & 99K g & A
(3) ik & A g B A
(4) st & wed g & Y

PG-EE-June-2023[M.Com(Hons)Five Year Integrateq] Code-D |
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i

Balance of forfeited shares account after the reissue of forfeited shares 1s

transferred to .............

(1) Profit and Loss A/c (2) Capital reserve account

(3) General reserve account (4) None of the above

W%ﬁ@wsﬁmgﬁﬁmm%maa@amaﬁaﬁrm ......... 4 g
frar ST 2 | | |

(1) -1 @ (2) Yt H9F @Il

(3) @ "I @l (4) 3H & A FE T

56

Premium on the issue of shares is shown on which side of the balance sheet ?

(1) Assets (2) Liabilities

(3) Both assets and liabilities (4) None of the above
st & fyfg qx fifrgm dowasiic & Rrg o Rwmr simar 8 7

(1) a=hmr 2) @@
(3) wwfel g &l & (4) I9YH d 4 H3 T

|

57.

When assets are subtracted from liabilities it will be equal to:

(1) Capital (2) Net income

(3) Working capital (4) Goodwill

5g gefl @ @il § @ "ery ST € o 98 aeE] el diey
1 o E ©2) IS 9
(3) el gl & (4) @fa &

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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58.

Profit & Logs statement is also known as :
(1) Statement of earnings

(2) Statement of balance sheet

(3) Statement of operations

(4) Statement of Income

m—aﬁmﬁ%%ﬁmw%:

1) T o F1 Ry 2) i faed @1 Ry
(3) uREE R 4) o F1 Faw

—

Which of the following options is not recbrded in the Balance sheet ?
(1) Cash

(3) Building

(2) Rent expenses

(4) Goodwil]
ﬁ?ﬁf@aﬁéﬁ?{—mﬂmﬁ@ﬁﬂﬁmm?

(1) T4 2) f&mr ag
(3) fafezm 4) @y
60. | The main_operation eW

termed a5 -
(1) Operating expenses (2) Non-administration expense

(3) Selling expenses 4) Adminjgt

ration €Xpenge

@) -5
(@) 9T apy

[M.Com(Hons)F; Y ) —
PG-EE-June-2023[M.Com(Hons) ‘23’6) eMI'““*g“atedl- Codep
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61. | Who suggested product, pricing, place, promotion all these in a company

represents “Market Mix” ?
(1) Neil Borden (2) Neilsen
(3) Philip Kotler (4) Stephen Morse

%wmﬁﬁmﬁsm,'m,@ﬂ,mmﬁaﬁmﬂﬁ‘I{@Eﬁirw’mr
i #xa & ?

(1) it &red (2) e
(3) a9 Heer (4) e 9"
62. | This P is not a part of the 7Ps of marketing mix ?
(1) Promotion (2) Price
(3) People (4) Purpose
Tz P fauom fasor & 7P @ feww 7@ R
(1) urHed (2) u=H
(3) diga (@) WA
63. | Marketing of product and service in which the offer itself is not intended

to make any monetary profit is called :

(1) Profit marketing (2) Virtual marketing

(3) Digital marketing 4) Non-proﬁf—marketing

Fa1 qar AR H A SEd s G AEE T 3 IR A 76 A, a7 wear
g

(1) @ faeE (2) aHor fagom

3) fefoea fauom (4) e fager

lPG—EE—J une-2023[M.Com(Hons)Five Year Integrated] Code-D
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E)uestion ~ 1
\
\\ |

Questions

USP is defined as :

(1) Unique selling price

(2) Unique saleg preposition
(3)  Unique selling proposition

4) Unique strategy promotion

0 9 ofty 3
1) Tfw A g=g 2) g% e e

(1) Going-rate pricing

(2) Market penetyatiop Pricing

(3) Value based pricing

(4)  Skimming pricing
maﬁaﬁaﬁrﬂwa%msﬁammamamwwwmﬁmﬁ%
mwwm{@wﬁﬁmﬁm%;

(1) 7afm &7 W 5w ey 2) Wﬁ“‘l@

3) TR snufE Fma Fraf (4) ﬁ%ﬁmmgg

L

-EE-June-2023 M.Com(Hons)Five Year]
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66.

In which business, the support service activities are categorized ?

(I) Commercial industries

(2) Primary industries

(3) Secondary industries

(4) Tertiary industries

Pl T 3, e TR i A A §
(1) amiE @ (2) e TEm
3) fedas @ (4) T I

|

67.

In business, why is it essential to make a profit ?
(1) It provides a return to investors

(2) It provides funds for future extension

(3) It increases the reputation of a company

(4) All of the above

Zag §, @9 A TaeE w27

(1) 9 PrawE @ o Jee & 8

@) 76 M fEr & 0 A9 e E g

(3) T FA @ gt ¥ e F 4

4) IH ad

PG-EE-June-2023 [M.Com(Hons)Five Year Integrated] Code-D
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68. | Whatis Centralisation ?

(1) Retention of decision-making authority
(2)  Dispersal of decision-making authority
(3)  Creating divigion as a profit centre

(1) Opening the new centre of branches

BT @ b7

(1) Folas srforpre gamd) v
(2) ot arferpre @1 G
(3) 9w & @ F B @

(4) arst & 3 dz e

69. | Grouping of activities on the basis product lines is part of ;
(1) Delegated organization
(2) Divisional organization

(3) Functional organization

(4)  Autonomous organization

g dar & s g afafafdt @ wdee L Bl T W g

(1) yeardfor e (2) dvrliy g

(3)  ®rlors qued (4) W@ ey

———

L 101 June-2023[M.Com(Hons)Five Year Integrated] (o —e—
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70.

Preliminary Contracts are :

(1) binding on the Company

(2) binding on the Company, if ratified after incorporation
(3) binding on the Company, after incorporation

(4) not binding on the Company

ORI Srger B ¥

(1) F W e

@) FT ® e qﬁmm%aﬁmmwa
3) Mwwﬁm%qﬁmm@mﬁ

(4) FH W qegadt 78t

71.

The main reason why Principles of Management do not provide readymade
solutions for all management problems is that

(1) They act as general guidelines for business-related 1ssues
(2) The real business issues are pretty complex
(3) The real business issues are very dynamic

(4) All of the above

sy & foer @ gy wresl &1 Wie qE e e e, TN T FR]
LA CE

1) ¥ ey gedl 9 @ e e Ren-Prta & et g @
() aniad AaEes qga ol sfew any ¥
(3) A e G5 agd Tl ¥

4) IGH

PG_EE_J une-2023[M.Com(Hons)Five Year Integrated] Code_D =
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72,

Which of the following describes the principle of harmony, not discord ?
(1)

(2)
3)

The Management should properly investigate any task
The Management should engage in scientific enquiry
The Management should focus on observation and analysis

(4) The mManagement should share the gains or profits of a company wit},
their workers

ﬁﬁ%@aﬁﬁ?—mwmm%ﬁﬁamm?

) TR f a4 ot e gk

2) S @ A Sffe F g |
(3) w-aa%masﬁzmamfaﬁwwwm%ﬁﬁmm

complete their tasks

(3) It helps to calculate the duration of rest intervals

(4) None of the above
ﬁmﬁr@aﬁ@ﬁﬁ-mwa&aﬂm%tﬁémwaﬁwé? |
(1) Wﬁuﬁﬁmﬁmﬁﬁ%wmﬁwmﬁmm%,

given to employees

@) %mﬁ@@ﬁmmﬁmﬁwmﬁwm%l
4) 99g A & FE T
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74.

business ?

Which of the following is the main objective of standardization within a

(1) It helps to establish standards of excellence within a company

(2) It helps to reduce products to fixed sizes, features or types

(3) It helps to bring in more significant exchangeability of various pal'fs

(4) All of the above

Frefafad & & $9-1 290E § AHEHT F TE 3599 § 7

(1) T8 F1 3 Iepeedl & qFE F RO H 8

éz) T8 AR & i S, ﬁrmaﬁawwﬁﬁwmﬁmm
I

3) T fRr udw # s qeaye Rfwad § deEd $i

(4) I =

75.

The principles of management serve as a general guideline for ........... :
(1) Decision making

(2) Managerial actions

(3) Both (1) and (2) are correct

(4) Both (1) and (2) are incorrect
U B (BT oveeeeeee 3 fou gm Rafady &1 #d #@ ®

(2) v AT
(3) (1)@ (2) 3t @@l &
(@) (1)@ (2) & T

PG-EE-J un?efz’()—2_3T1§'I-ﬁCOHFI(H"“S)Fi"e Year Integrated] Code-D
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76. | By profession, 'W. Taylor was a :
(1) Mechanical Engineer (2) Mining Engineer
(3) Psychologist (4) Human Resource Officer
(1) F3Fa goffrar (2) g Rt
(3) HAASITER (4) WM wEneA e

77. | The principles of management have been developed on the basis of :

(1) Observation
(2) Experimentation

(3) Personal experiences of the manager

(4) All of the above

ey & el @l 39 oy W fasfad fear mar B
(1) g (2) W

(3) YEuF & ARHIA HIHT (4) Iugdh A

78. | The application of this principle of management leads to higher production
and better work for the same effort. Identify the related principle of general

management :
(1) Discipline -~ (2) Equity
(3) Division of work (4) Order

gae & 56 s & gy G S 7 ol I qe arfye

T
& o &1 A e & g R @ veae g O TR Y ot
(1) orgemsd (2) wwa
(3) @ fawrH . (4) oMy
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79. | According to Henri Fayol, if this principle of general management 18
violated, “authority is undermined, discipline is in jeopardy, order disturbed
and stability threatened.” Identify the principle.
(1) Authority and responsibility
(2) Discipline
(3) Unity of Command
(4) Equity | |
20 S ORI, AR A S @ 5 T 1 S Rl T & S
Y B S ST 2, ST G 7 3, e sl A 8 Sl R B Ea I
2T 217 39 fasra & qgam #ib
(1) &R @ TR (2) rgamad
(3) TR & THA (4) qwal QT
80. | The technique of differential piece rate system was developed by Taylor in

order to :

(1) Discriminate between efficient and inefficient workers
(2) Reward the efficient worker

(3) Motivate the inefficient workers to perform better

(4) All of the above

ey A A S T 2 3 R g R
(1) @sﬂw%smaﬁﬁ%qwﬁﬁzm%m

(o) e A B gEE 3 & R

3) a@smaﬁﬁﬁamammﬁ%ﬁmﬁﬁﬁm%g

(4) IEH

/ ° .
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81. recorded investments

In the case of admission of 4 partner, the entry for un
will be :

(1) Debit Partner Capital A/cs and Credit Investment Alc
(2) Debit Revaluation A/cs and Credit Investment A/c

() Debit Investment A/cs and Credit Revaluation Alc

(4) None of the above

TR & 5491 & g, omfaffen PR #) R 36

(1) WERR & G @l & 2R qor g = & afe

(2) TearE et ¥ e qu fRg @l 2R

@) P @l & 3w qo gfwiET @n # A

(4) IGF T A L T8

82.

Sacrificing ratio is used to distribute ........ . in case of admission of a

partner.

(1) Reserves

(2) Goodwill

(3) Revaluation Profit

(4) Balance in Profit and Loss Account

AT SIJUId 1 ST A & qae oA A L mm%mmm
gl

(1) =@ (2)
(3) e @M (4) a8 @) @ gy

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-n
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83. | Trial balance ig used to check the accuracy of :
(1) Balance sheet balances

(2) Ledger accounts balances

(3) Cash flow statement balances

(4) Income statement balances

A B .. mWﬁmﬁmmmm%
(1) o faed @1 a9 (2) T @A .
(3) Tl waE faawer (4) 4 faawr 9

84. | When debit balance is equal to credit balance then the trial balance means:

(1) Account balances are correct

2) Mathematically Capital + Liabilities = Assets

(3) No mistake in recording transactions

(4) No mistake in posting entries to ledger accounts

Gﬁmﬁmﬁmﬁqiwmam%aNW$mm%{

(1) @ 99 7
) Wmﬁg\?ﬁ%—a@a: H‘qm!ﬁ
3) m_ﬁﬁﬁmﬁﬂ?ﬂﬁﬁﬁq’ﬁ%

2023[M.Com(Hons)Five Year Integrated] Code-D
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85. | To start a partnership business, what should be the minimum number of
! partners ?
1) 2 (2 10
3) 4 | (4) 20
@WW@GW%WW#WH@TW%W?
| 1) 2 2) 10
| @) 4 4) 20
86. | What type of agreement is used to form a partnership business ?
(1) Written agreement
(2) Oral agreement
(3) Written or oral agreement

(4) None of them
@mwﬁmﬁmmmwﬂmmg?
(1) fofga srgea

2) Afes srgad

(3) faftaa sreran Hifad srga

4) T q #g T
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87. o

On No part i

nersh . :
o ip agreement, what will be the percentage of profit sharing
ratio between them ?

(1) Unequal
(2) Equal

3 .
(3) It will depend on the experience of a partner

(4) It will depend on a partner's capital
mmwu%maﬁw,maﬁawﬁwwﬁwm?
(1) oaaH

(2) w9

(3) WEER & ogFE W R A

(4) TEER & P W frefx #m

88. | What is a Sole Proprietorship ?

(1) Business owned by President

(2) Business owned by several companies
(3) Business owned by one person

(4) Business owned by a company

a} ’G_EE-June-202 3MM.C Om(Hons)Fi\(zggear Integrated] Code-D
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} — e e
|

89. | Sole Proprietorship is most suitable for :
j (1) Medium scale concerns
i (2) Large scale concerns

(3) Small scale concerns

| | @) None of the above
| T i v b
/(1) 7Y T & g & o
f<2> %2 4T 3 @ 3 f

/(3) T T 3 FEarE 3 R
@) T A

|
90. [ Which of the following is not a function of insurance ?

-
|
|

| (1) Risk sharing

(2) Assist in capital formation

(3) Lending of funds

(4) None of the above

frifefaa & @ -1 dim @1 @ 7@ 2 7
(1) difgn @ &t

(2) yoft fmior & weren &on

(3) o9 FUR A

(4) I & § @

L e
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- 91 | Outof four points which is not an economic activity ?
| (1) Production (2) Social service
(3) Professional (4) Trading in goods
it Tt Rregall & & - ol R T 8 7
(1) SqEH 2) qmfer ddr
() Gam (@) TG A A
92. | Which option is not a business activity ?
(1) Production of goods (2) Transportation
(3) Exchange of goods (4) Work in a factory for wages
a1 faseq e Tt T8 @ 7
(1) &l &1 I (2) e
@) awa @ R (4) wogh B o dh A FH HTN
93. | Oil refinery and sugar mill are classified under which industries ?

(1) Primary (2) Secondary

(3) Tertiary (4) None of the above

aﬁsﬁﬂmamﬁmﬁﬁm%awhmﬂwmmg?
1) et (2) facias

(3) A (4) I ¥ A P T

PG-EE-June-2023 [M.Com(Hons)FlvltlalYear Integrated] Code-D

(41)




o2t~
Code-D
Q“I%S;.im Questions
94. | Identify the activity which does not support trade :
(1) Banking (2) Warehousing
(38) Insurance (4) Mining
3q TR ) geEE BV T AR H ARG T 8
(1) sk (2) TSR
3) & (4) @
95. | In which occupation people get salary or wages in return for their work ?
(1) Employment (2) Business
(3) Profession (4) None of the. above
e A0 3 2R o A @ 9 Toigh @ A o & ¥ 7
1) AR (2) @qEE
3) am (4) I 7 q FE T
96. | Accounting furnishes data on:

(1) Income and cost for the managers
(2) Financial conditions of the institutions
(3) Company's tax liability for a particular year

(4) All the above

(1) e & fQ 3mg ur e
(2) genet @ fodg feafa
(3) & af fady & forw Fl H A

(4) I w

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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97.

Copyrights, Patents and Trademarks are :
(1) Current assets (2) Fixed assets

(3) Intangible assets (4) Investments

98.

The debts which are to be repaid within a short period (a year or less) are
referred to as :

(1) Current liabilities (2) Fixed liabilities

(3) Contingent liabilities (4) All the above
émﬁ%m(@aﬁmmm%aﬁ?wm%aﬁm%:

(1) =g () W EfeE

(3) o v () 3T @

99.

Gross profit is :

(1) Cost of goods sold + Opening stock

(2) Excess of sales over cost of goods sold

(3) Sales fewer than Purchases

(4) Net profit fewer than expenses of the period
a2

(1) a3 T 9/ F A+ G '

) ¥ T 9 F ara W g @ et

(3) #4 4 3 for

(4) w fady & g @ & & A

PG-EE-June-2023[M.Com(Hons)Five Year Integrated] Code-D
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|

charge to :
(1) Tradingaccount (2) Profit and Loss a/c
(3) Balance sheet (4) None of the above

Tl & fma g Rafy & @ @1y @R Rea o AR
(1) =UR @ A (2) @-ai g A

(3) e ferger o (4) I9F A 4 F TE

100. | The charges of placing commodities into a saleable condition should be

Set-Y
Code—D_
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